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TNPSC GROUP I – TEST BATCH 2022 
TEST XIX – UNIT IX PART I DEVELOPMENT ADMINISTRATION 

 
1. Choose the correct statements about 2011 census 

I. The national average of population density was 382 persons per sq.km 
II. The population density of Tamilnadu was 555 persons per sq.km 
III. Tamilnadu ranks 10th in the population density at national level 
a. I, II    b. I, III    c. II, III 
d. All of these  e. Answer not known 
2011Mk; Mz;L kf;fs;njhif fzf;nfLg;G Fwpj;j rhpahd $w;Wfis Njh;f 
I. Njrpa ruhrhp kf;fs;njhif mlh;j;jpahdJ rJu fpNyh kPl;lUf;F 382 egh;fshth; 
II. jkpo;ehl;bd; kf;fs;njhif mlh;j;jpahdJ rJu fpNyh kPl;lUf;F 555 egh;fshth; 
III. jkpo;ehL Njrpa kf;fs;njhif mlh;j;jpapy; 10tJ ,lk; tfpf;fpwJ 
a. I, II    b. I, III    c. II, III 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

2. How many pairs are correctly matched? 
I. Human Development Index – education, health and income 
II. Child Development Index – Education, Health and nutritional status 
III. Multidimensional Poverty Index – drinking water, fuel and sanitation 
a. One pair   b. Two pairs   c. Three pairs 
d. None of these  e. Answer not known 
vj;jid ,izfs; rhpahf nghUe;jpAs;sd? 
I. kdpj tsh;r;rpf; FwpaPL – fy;tp> eyk; kw;Wk; tUkhdk; 
II. Foe;ijfs; Nkk;ghl;Lf; FwpaPL – fy;tp> eyk; kw;Wk; Cl;lr;rj;J epiy 
III. gyghpkhz tWikf; FwpaPL – FbePh;> vhpnghUs; kw;Wk; Rfhjhuk; 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. VJkpy;iy   e. tpil njhpatpy;iy 

 
3. Arrange the following districts in decending order based on Human Development Index 

(Higher to lower) 
I. Kanyakumari   II. Thoothukudi  III. Chennai 
IV. Kanchipuram   V. Virudhunagar 
a. I, II, III, IV, V  b. I, V, II, III, IV  c. I, III, II, V, IV 
d. I, IV, III, II, V  e. Answer not known 
gpd;tUk; khtl;lq;fis kdpj tsh;r;rpf; FwpaPl;bd; mbg;gilapy; ,wq;Fthpirapy; 
thpirg;gLj;Jf 
I. fd;dpahFkhp   II. J}j;Jf;Fb  III. nrd;id 
IV. fhQ;rpGuk;   V. tpUJefh; 
a. I, II, III, IV, V  b. I, V, II, III, IV  c. I, III, II, V, IV 
d. I, IV, III, II, V  e. tpil njhpatpy;iy 
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4. Which of the following districts of Tamilnadu ranked lowest in Human Development 
Index? 
a. Villupuram b. Theni c. Perambalur d. Ariyalur e. Answer not known 
gpd;tUk; khtl;lq;fspy; kdpj tsh;r;rp FwpaPl;by; jkpo;ehl;bd; ve;j khtl;lk; kpff;Fiwe;j 
,lj;jpy; cs;sJ? 
a. tpOg;Guk;  b. Njdp c. nguk;gY}h;  d. mhpaY}h; e. tpil njhpatpy;iy 
 

5. How many pairs are correctly matched? 
I. First rank in Gender Inequality Index – Nilgiris 
II. Last rank in Gender Inequality Index – Ariyalur 
III. First rank in Child Development Index – Kanyakumari 
IV. Last rank in Child Development Index – Perambalur 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
vj;jid ,izfs; rhpahf nghUe;jpAs;sd? 
I. ghypd rkj;Jtkpd;ik FwpaPl;by; Kjyplk; - ePyfphp 
II. ghypd rkj;Jtkpd;ik FwpaPl;by; filrp ,lk; - mhpaY}h; 
III. Foe;ijfs; Nkk;ghl;Lf; FwpaPl;by; Kjyplk; - fd;dpahFkhp 
IV. Foe;ijfs; Nkk;ghl;Lf; FwpaPl;by; filrp ,lk; - nguk;gY}h; 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

6. Which of the following district ranked first in Multidimensional Poverty Index? 
a. Chennai   b. Kancheepuram  c. Cuddalore 
d. Coimbatore  e. Answer not known 
gyghpkhz tWikf; FwpaPl;by; gpd;tUk; ve;j khtl;lk; Kjyplj;jpy; cs;sJ? 
a. nrd;id   b. fhQ;rpGuk;   c. flY}h; 
d. Nfhak;Gj;J}h;  e. tpil njhpatpy;iy 
 

7. Which of the following district ranked last in Food Security Index? 
a. Nilgiris   b. Ramanathapuram  c. Virudhunagar 
d. Perambalur  e. Answer not known 
czTg;ghJfhg;G FwpaPl;by; gpd;tUk; ve;j khtl;lk; filrp ,lj;jpy; cs;sJ? 
a. ePyfphp   b. ,uhkehjGuk;   c. tpUJefh; 
d. nguk;gY}h;   e. tpil njhpatpy;iy 
 

8. Choose the correct statements about Tamilnadu 
I. Gross Enrollment Rate is in higher education is 43% as per 2013-14 
II. It ranks first among all Indian states in context of the number of universities, 

Technical Universities 
III. The State Skill Development Mission acts as a single agency to conduct training 

programs for qualifications upto 12th std and accredits training institutions. 
a. I, II    b. I, III    c. II, III 
d. All the above  e. Answer not known 
jkpo;ehL Fwpj;j rhpahd $w;Wfis Njh;f 
I. 2013-14,d; gb cah;fy;tpapy; nkhj;j Nrh;f;if tpfpjk; 43 rjtPjkhFk; 
II. gy;fiyfofq;fs;> njhopy;El;g gy;fiyfofq;fs; vz;zpf;ifapy; midj;J ,e;jpa 

khepyq;fspYk; jkpo;ehL Kjyplj;jpy; cs;sJ 
III. khepy jpwd; Nkk;ghl;L ,af;fkhdJ 12Mk; tFg;G tiuapyhd khzth;fSf;F 

gapw;rp tFg;G elj;Jtjw;Fk; gapw;rp epWtdq;fSf;F mq;fPfhuk; toq;Ftjw;Fk; xU 
Kfikahf nray;gLfpwJ. 

a. I, II    b. I, III     c. II, III 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
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9. Choose the correct statements about Tamilnadu 
I. Female Enrollement in M.Phil is higher than male 
II. The highest female work participation rate is in Perambalur 
a. I   b. II    c. I, II 
d. None of these e. Answer not known 
jkpo;ehL Fwpj;j rhpahd $w;Wfis Njh;f 
I. M.Phil Nrh;f;ifapy; Mz;fis tpl ngz;fNs mjpfk;  
II. nguk;gY}hpy; jhd; ngz;fspy; mjpf Ntiyg; gq;Nfw;G tpfpjk; cs;sJ. 
a. I   b. II    c. I, II 
d. VJkpy;iy  e. tpil njhpatpy;iy 
 

10. Choose the correct statements about Tamil Nadu state planning commission 
I. It was constituted on 25 May 1971 
II. It has 7 technical divisions 
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
jkpo;ehL jpl;lf;FO Fwpj;j rhpahd $w;Wfis Njh;f 
I. ,J 25 Nk> 1971 md;W mikf;fg;gl;lJ 
II. ,J 7 njhopy;El;g gphpTfis nfhz;Ls;sJ 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II 
d. ,it VJkpy;iy  e. tpil njhpatpy;iy 
 

11. Choose the correct statements about Tamil Nadu 
I. Tamilnadu is one of the highly urbanised states with 48.45% of the population living 

in urban areas 
II. The litracy rate of Tamilnadu is 80.69% as per 2011 census 
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
jkpo;ehL Fwpj;j rhpahd $w;Wfisj; Njh;f 
I. 48.45 rjtPjk; efh;g;Gw kf;fs;njhifia nfhz;L jkpo;ehL cah; efh;ka khepykhf 

tpsq;FfpwJ. 
II. 2011Mk; Mz;L kf;fs;njhif fzf;nfLg;gpd;gb jkpo;ehL 80.69% vOj;jwptpid 

nfhz;Ls;sJ 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II 
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

12. Choose the correct statements 
I. As per the constitution 73rd Amendment Act 1992, sanitation is included in the 11th 

schedule 
II. Accordingly, Gram Panchayats have a pivotal role in the implementation of total 

sanitation campaign 
III. The TSC will be implemented by the Panchayati Raj institutions at all levels. 
a. I, II    b. I, III    c. I, II, III 
d. II, III   e. Answer not known 
rhpahd $w;Wfisj; Njh;f 
I. 1992Mk; Mz;L 73tJ rl;lj;jpUj;j rl;lj;jpd; gb> Rfhjhuk; 11tJ ml;ltizapy; 

Nrh;f;fg;gl;lJ 
II. mjd;gb> KO Rfhjhu ,af;fj;ij eilKiwg;gLj;Jtjpy; fpuhk gQ;rhaj;Jf;fs; 

Kf;fpa gq;F tfpf;fpd;wd. 
III. gQ;rhaj;Juh[; mikg;Gfs; KO Rfhjhu ,af;fj;ij midj;J epiyfspYk; 

eilKiwg;gLj;Jk;. 
a. I, II    b. I, III    c. I, II, III 
d. II, III   e. tpil njhpatpy;iy 
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13. Choose the correct statements about the Clean Village Award 
I. It is a state award conferred on the village panchayats leader, for achieving clean 

environment, access to toilet facilities in the village 
II. Similar to this award “Nirmal Gram Puraskar” is being awarded by the Union 

Government 
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
J}a fpuhk tpUJ njhlh;ghd rhpahd $w;Wfis Njh;f 
I. ,J khepy mstpy; Rj;jkhd Rw;Wr;#oiy NgZjw;Fk;> fpuhkj;jpy; foptiw 

trjpfis Vw;gLj;jpajw;Fk; fpuhk gQ;rhaj;J jiytUf;F toq;fg;gLk; tpUjhFk;. 
II. ,t;tpUjpid NghyNt kj;jpa muR ‘eph;ky; fpuhk Gu];fhh;’ tpUjpid toq;FfpwJ. 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II 
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

14. The Government of Tamilnadu has formulated strategies to improve access to sanitation in 
association with 
a. ADB  b. UNICEF   c. UNESCO 
d. AIIB  e. Answer not known 
________ cld; ,ize;J Rfhjhuj;ij Nkk;gLj;Jtjw;fhd cj;jpfis jkpo;ehL muR 
tFj;Js;sJ. 
a. ADB  b. UNICEF   c. UNESCO 
d. AIIB  e. tpil njhpatpy;iy 
 

15. Choose the correct statements about Human Development Index 
I. It was developed by Mahbub Ul Haq and Amartyasen in 1990 
II. It was published by United Nations Development Programme 
III. Human Development Report of Tamil Nadu following the UNDP Methodology 
a. I, II    b. I, III    c. II, III 
d. All the above  e. Answer not known 
kdpj tsh;r;rpf; FwpaPL Fwpj;j rhpahd $w;Wfis Njh;f 
I. ,J 1990Mk; Mz;L k ;̀g+g; cy; mf; kw;Wk; mkh;j;jpah nrd; MfpNahuhy; 

cUthf;fg;gl;lJ. 
II. ,J If;fpaehLfs; tsh;r;rp jpl;lj;jhy; (UNDP) ntspaplg;gl;lJ. 
III. jkpo;ehL UNDP khw;wpiag; gpd;gw;wp kdpj tsh;r;rp mwpf;ifapid jahhpf;fpwJ 
a. I, II    b. I, III    c. II, III 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

16. Which of the following were the indicators of Gender Inequality Index? 
I. Maternal Mortality Ratio 
II. Adolescent Birth Rate 
III. Women Empowerment 
IV. Labour Force Participation Rate 
a. I, IV    b. I, II, IV   c. II, III, IV 
d. All of these  e. Answer not known 
ghypd rkj;Jtkpd;ik FwpaPL fhuzpfis fz;lwpf 
I. jha; ,wg;G tpfpjk; 
II. ,sk;gUt gpwg;G tpfpjk; 
III. ngz;fSf;F mjpfhukspj;jy; 
IV. njhopyhsh; gq;Nfw;G tpfpjk; 
a. I, IV    b. I, II, IV   c. II, III, IV 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
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17. How many pairs are correctly matched? 
I. Protection of women from domestic violence Act – 2005 
II. Dowry Prohbition Act – 1961 
III. The Prohibtion of Child marriage Act – 2005 
IV. Maternity benefit Act – 1961 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
vj;jid ,izfs; rhpahf nghUe;jpAs;sd? 
I. FLk;g td;Kiwapy; ,Ue;J ngz;fis ghJfhf;Fk; rl;lk; - 2005 
II. tujl;riz jLg;G rl;lk; - 1961 
III. Foe;ij jpUkzj; jilr;rl;lk; - 2005 
IV. kfg;NgW eyr;rl;lk; - 1961 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

18. Choose the correct statements about National Rural Economic Transformation Project 
I. This Scheme was introduced by Government of india in 2019-20 
II. It was Funded by Government of India and Tamilnadu in the ratio of 60:40 
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
Njrpa fpuhkg;Gw nghUshjhu Gj;jhf;f jpl;lk; gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. ,j;jpl;lk; ,e;jpa murhy; 2019-20 ,y; njhlq;fg;gl;lJ 
II. ,e;jpa muR kw;Wk; jkpo;ehL muR KiwNa 60:40 vd;w tpfpjj;jpy; ,j;jpl;lj;jpw;F 

epjpAjtp mspf;fpd;wJ. 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II 
d. ,it VJkpy;iy  e. tpil njhpatpy;iy 
 

19. Choose the correct statements about Rashtriya Mahila Kosh 
I. It was established in 1992 
II. It aims to provide Microcredit to women 
III. It is a national credit Fund for women under the control of the Ministry of women 

and child development 
a. I, II    b. I, III    c. II, III 
d. All of these  e. answer not known 
uh~;l;hpa kfpsh Nfh~; gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. ,J 1992,y; njhlq;fg;gl;lJ 
II. ,J ngz;fSf;fhd FWfld; mspg;gjd; Nehf;fpy; njhlq;fg;gl;lJ 
III. ,J kfsph; kw;Wk; Foe;ijfs; Nkk;ghl;L mikr;rfj;jpd; fl;Lg;ghl;by; 

nray;gLj;jg;gLk; xU Njrpa mstpyhd kfspUf;fhd fld; toq;Fk; epjpak; 
a. I, II    b. I, III    c. II, III 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

20. Mahalir Sakthi Maiyyam Scheme was introduced by Government of India in the year 
a. 1992-1993   b. 1993-1994   c. 2012-2013 
d. 2017 – 2018  e. Answer not known 
kfsph; rf;jp ikak; jpl;lk; ,e;jpa murhy; njhlq;fg;gl;l Mz;L 
a. 1992-1993   b. 1993-1994   c. 2012-2013 
d. 2017 – 2018  e. tpil njhpatpy;iy 
 

21. Choose the correct statements about Avvaiyar Award 
I. Every year it was awarded on 8 March, the International Women’s Day 
II. It includes an 4 gram gold medal a cheque for Rs.1 lakh, a shawl and a citation 
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a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
xsitahh; tpUJ gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. xt;nthU Mz;Lk; cyf kfsph; jpdkhd khh;r; 8 md;W ,t;tpUJ toq;fg;gLfpwJ. 
II. ,t;tpUJ ngWgtUf;F 4 fpuhk; vilAs;s jq;fg;gjf;fk; &.1 yl;rk; fhNrhiy> 

rhy;it kw;Wk; rhd;wpjo; Mfpait toq;fg;gLfpwJ. 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II 
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

22. Which of the following provisions are correct regarding protection of women from 
domestic violence act 
I. The Act ensures a woman’s right to reside in her matrimonial home 
II. Judgements within 30 days of filing of the case 
III. Under this act, protection officers have been appointed by government to help the 

aggrieved woman in filing the case 
a. I, II    b. I, III    c. II, III   
d. All of these  e. Answer not known 
gpd;tUtdtw;Ws; FLk;g td;KiwapypUe;J ngz;fisg; ghJfhf;Fk; rl;lj;jpd; mk;rq;fSs; 
rhpahdtw;iwj; Njh;T nra;f 
I. ,r;rl;lk; ngz;fs; GFe;j tPl;by; tho;tjw;fhd chpikia cWjp nra;fpwJ. 
II. tof;F gjpT nra;j 30 ehl;fSf;Fs; ePjpkd;w jPh;g;gpid toq;Fjy; 
III. ,r;rl;lj;jpd;gb> ghjpf;fg;gl; ngz;zpw;F ePjpkd;wj;jpy; tof;F njhlu cjtpahf 

ghJfhg;G mjpfhhpfs; murhy; epakpf;fg;gLth; 
a. I, II    b. I, III    c. II, III   
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

23. Choose the correct statements about Ujjawala Scheme 
I. It was launched in 2007 
II. It is a comprehensive scheme for prevention of trafficking among women and 

children 
a. I only   b. II only    c. Both I and II 
d. None of these  e. Answer not known 
c[;[thyh jpl;lk; gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. ,j;jpl;lk; 2007,y; njhlq;fg;gl;lJ 
II. Foe;ijfs; kw;Wk; ngz;fs; ghypay; Ruz;lYf;F Mshf;fg;gLtij jtph;g;gjw;fhd 

tphpthd jpl;lk; 
a. I kl;Lk;   b. II kl;Lk;    c. I kw;Wk; II 
d. VJkpy;iy   d. tpil njhpatpy;iy 
 

24. Choose the correct statements about SAKHI Scheme 
I. Also known as one stop centre scheme 
II. It was started in 2016 
III. It provides integrated support and assistance to women affected by violence both in 

private and public spaces under one roof 
a. I, II    b. I, III    c. II, III 
d. All of these  e. Answer not known 
rfp (SAKHI) jpl;lk; gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. ,j;jpl;lk; xw;iw epWj;j ikak; jpl;lk; vd;Wk; miof;fg;gLfpd;wJ 
II. ,j;jpl;lk; 2016,y; njhlq;fg;gl;lJ 
III. jdpahh; kw;Wk; nghJ (,lq;fspy;) td;Kiwahy; ghjpf;fg;gl;l ngz;fSf;fhd 

xUq;fpize;j cjtp kw;Wk; Mjutpid mspf;fpd;wJ. 
a. I, II    b. I, III    c. II, III 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
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25. Choose the correct statements about Nirbhaya Fund 
I. It was announced for the first time in Union budget 2016-17 
II. The corpus was to be utilised for upholding safety and dignity of women 
III. The fund is administered by department of economic affairs 
a. I, II    b. I, III    c. II, III 
d. All of these  e. Answer not known 
eph;gah epjp gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. ,e;epjp 2016-17 Mz;Lf;fhd kj;jpa gl;n[l;by; Kjy;Kiwahf mwptpf;fg;gl;lJ. 
II. ,e;epjp ngz;fspd; ghJfhg;G kw;Wk; fz;zpaj;ij epiyepWj;Jtjw;fhf 

gad;gLj;jg;gLfpwJ 
III. ,e;epjp nghUshjhu tptfhuq;fs; Jiwapdhy; eph;tfpf;fg;gLfpwJ. 
a. I, II    b. I, III    c. II, III 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

26. 6 women or 8 men can construct a room in 86 days. How long will it take for 7 women and 
5 men to do the same type of room? 
a. 8 days   b. 16 days    c. 48 days    
d. 63 days   e. Answer not known 
6 ngz;fs; my;yJ 8 Mz;fs; Xu; miwia 86 ehs;fspy; fl;b Kbg;gu;. mJ Nghd;w 
miwia 7 ngz;fs; kw;Wk; 5 Mz;fs; fl;b Kbf;f vj;jid ehs;fs; Mfk;. 
a. 8 ehl;fs;   b. 16 ehl;fs;    c. 48 ehl;fs; 
d. 63 ehl;fs;   e. tpil njhpatpy;iy 

 
27. A alone can do a piece of work in 35 days. If B is 40% more efficient than A, then B will 

finish the work in ___________days. 
a. 21 days   b. 25 days    c. 49 days    
d. 60 days   e. Answer not known 
A vd;gtu; jdpNa xU Ntiyia 35 ehs;fspy; Kbg;ghu;. B Mdth;> A I tpl 40% $Ljy; 
jpwd; tha;e;jtu; vdpy;> B Mdtu; me;j Ntiyia _________ ehs;fspy; Kbg;ghu;. 
a. 21 ehl;fs;   b. 25 ehl;fs;    c. 49 ehl;fs; 
d. 60 ehl;fs;   e. tpil njhpatpy;iy 

 
28. Neelaveni goes by bi-cycle to her school every day. Her average speed is 12km/hr and she 

reaches school in 20 minutes. What is the increase in speed, if she reaches the school in 15 
minutes?  
a. 4 km/hr  b. 8 km/hr c. 1 km/hr d. 5 km/hr  e. Answer not known 
ePyNtzp jpde;NjhWk; kpjptz;bapy; gs;spf;Fr; nry;fpwhs;. mtsJ ruhrhp Ntfk; 12 fp.kP 
/ kzp Mf ,Ue;jhy;> mts; gs;spiar; nrd;wila 20 epkplq;fs; MfpwJ. mts; 15 
epkplj;jpy; gs;spiar; nrd;wile;jhy; mtsJ mjpfhpj;j Ntfk; vt;tsT?  
a. 4 fp.kP / kzp  b. 8 fp.kP / kzp  c. 1 fp.kP / kzp  
d. 5 fp.kP / kzp  e. tpil njhpatpy;iy 

 

29. Carpenter A takes 15 minutes to fit the parts of a chair while Carpenter B takes 3 minutes 
more than A to do the same work. Working together, how long will it take for them to fit 
the parts for 22 chairs? 

a. 30 minutes   b. 1 hour   c.1 
1

2
hours   

d. 3 hours   e. Answer not known 
jr;ru; A Mdtu; xU ehw;fhypapd; ghfq;fisg; nghUj;j 15 epkplq;fs; vLj;Jf; nfhs;fpwhu;. 
mNj Ntiyiar; nra;a jr;ru; B Mdtu; jr;ru; A I tpl 3 epkplq;fs; $Ljyhf vLj;Jf; 
nfhs;fpwhu;. ,UtUk; ,ize;J Ntiyr; nra;J 22 ehw;fhypfspd; ghfq;fisg; nghUj;j 
vt;tsT NeukhFk;? 
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a. 30 minutes   b. 1 hour   c.1 
1

2
hours   

d. 3 hours   e. tpil njhpatpy;iy 
 
30. A and B can do a piece of work in 12 days and 9 days respectively. They work on alternate 

days starting with A on the first day. In how many days will the work be completed? 

a. 10
1

2
 days  b. 10 

1

3
days    c. 10 

1

4
 days   

d. 10 
2

3
 days  e. Answer not known 

A kw;Wk; B MfpNahu; xU Ntiyia KiwNa 12 ehs;fs; kw;Wk; 9 ehs;fspy; nra;tu; 
Kjy; ehs; A If; nfhz;L Ntiyiaj; njhlq;fp mLj;jLj;j ehs;fspy; ,UtUk;;;;;; 
Ntiyia nra;fpd;wdu; vdpy;> NtiyahdJ vj;jid ehs;fspy; KbAk;? 

a. 10
1

2
 ehl;fs; b. 10 

1

3
 ehl;fs;    c. 10 

1

4
 ehl;fs; 

d. 10 
2

3
 ehl;fs; e. tpil njhpatpy;iy 

 
31. Choose the correct statements about Janani Suraksha Yojana 

I. Janani Suraksha Yojana is a safe motherhood intervention under the National Rural 
Health Mission 

II. It is being implemented since April 2005 
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
[ddp Ruf;~h Nah[dh gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. [ddp Ruf;~h Nah[dh vd;gJ Njrpa Cuf Rfhjhu jpl;lj;jpd; fPo; njhlq;fg;gl;l 

jha;khh;fspd; ghJfhg;gpw;fhd jpl;lkhFk;. 
II. ,j;jpl;lk; Vg;uy; 2005 Kjy; nray;gLj;jg;gl;L tUfpwJ 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II 
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

32. How many pairs are incorrectly matched? 
I. Food Safety and Standard Act – 2006 
II. Prevention of Food Adulteration Act – 1954 
III. Food Safety and Standards Regulations – 2011 
a. One pair  b. Two pairs   c. Three pairs 
d. None of these e. Answer not known 
vj;jid ,izfs; jtwhfg; nghUe;jpAs;sd? 
I. czT ghJfhg;G kw;Wk; juepiyfs; rl;lk; - 2006 
II. czT fyg;glk; jLg;Gr; rl;lk; - 1954 
III. czT ghJfhg;G kw;Wk; juepiy fl;Lg;ghLfs; - 2011 
a. xU ,iz   b. ,uz;L ,izfs;   c. %d;W ,izfs;   
d. vJTk; ,y;iy  e. tpil njhpatpy;iy 
 

33. Choose the correct statements about state commission on population 
I. It was constituted to oversee and review state population policy 2007 in the state 
II. It was established under the chairmanship of chief minister of Tamil nadu 
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
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kf;fs; njhif Fwpj;j khepy Mizak; gw;wpa rhpahd $w;Wfis Njh;e;njLf;fTk; 
I. ,J khepyj;jpy; khepy kf;fs;njhiff; nfhs;if 2007 I Nkw;ghh;itaplTk; 

kWghprPyid nra;aTk; cUthf;fg;gl;lJ 
II. ,J jkpof Kjy;th; jiyikapy; epWtg;gl;lJ 
a. I kl;Lk;    b. II kl;Lk;    c. I kw;Wk; II   
d. vJTk; ,y;iy  e. tpil njhpatpy;iy 
 

34. Choose the incorrect statements about ESI Scheme 
I. It was framed in according with the provision of the ESI Act – 1950 
II. It was first inaugurated in Tamilnadu in 1955 
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
ESI jpl;lk; gw;wpa jtwhd $w;Wfis Njh;e;njLf;fTk; 
I. ,J ESI rl;lk; 1950 ,d; tpjpapd;gb tbtikf;fg;gl;lJ 
II. ,J Kjd;Kjypy; jkpo;ehl;by; 1955 ,y; jpwf;fg;gl;lJ 
a. I kl;Lk;    b. II kl;Lk;   c. I kw;Wk; II  
d. vJTkpy;iy  e. tpil njhpatpy;iy 
 

35. The Medical Services Recruitment Board was constituted by the Government of Tamilnadu 
in 
a. 2010 b. 2011 c. 2012  d. 2013 e. Answer not known 
kUj;Jtg; gzpfs; Ml;Nrh;g;G thhpak; jkpof murhy; cUthf;fg;gl;l Mz;L 
a. 2010  b. 2011  c. 2012  d. 2013 e. tpil njhpatpy;iy 
 

36. Choose the correct statements about Tamilnadu Health System Reform Program 
I. It is a world bank supported project 
II. Implemented by Department of Health and Family Welfare of Tamilnadu Government 
III. Total budget of the program 400 million US $ over a period of 5 years 
a. I, II     b. I, III     c. II, III 
d. All of these   e. Answer not known 
jkpo;ehL Rfhjhu mikg;G rPh;jpUj;j jpl;lk; gw;wpa rhpahd $w;Wfis Njh;T nra;aTk; 
I. ,J cyf tq;fp MjuTld; $ba jpl;lkhFk; 
II. jkpo;ehL murpd; Rfhjhuk; kw;Wk; FLk;g eyj; Jiwapd; %yk; gyd;fis Nehf;fpa 

jpl;lkhf nray;gLj;jg;gLfpwJ. 
III. 5 Mz;LfSf;F jpl;lj;jpd; nkhj;j gl;n[l; 400 kpy;ypad; mnkhpf;f lhyh;fs;  
a. I, II     b. I, III     c. II, III 
d. ,it midj;Jk;   e. tpil njhpatpy;iy 

 
37. The Tamilnadu urban healthcare project was funded by 

a. JICA b. AIIB c. ADB d. World Bank e. Answer not known 
ve;j epWtdk; jkpo;ehL efh;g;Gw Rfhjhuj; jpl;lj;jpw;F epjpaspf;fpwJ  
a.  JICA b. AIIB c. ADB d. World Bank e. tpil njhpatpy;iy 
 

38. Which of the following are the main components of TNUHP? 
I. Upgrading Tertiary Hospitals 
II. Strengthening Referral Hospitals 
III. Strengthening Hospital Management 
IV. Strengthening Primary Health Care in communicable diseases 
a. I, II  b. III, IV c. I, II, III d. All ofhtese  e. Answer not known 
gpd;tUtdtw;wpy; TNUHP ,d; Kf;fpa $Wfs; 
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I. %d;whk; epiy kUj;Jtkidfis Nkk;gLj;Jjy; 
II. ghpe;Jiuf;fg;gl;l kUj;Jtkidfis tYg;gLj;Jjy; 
III. kUj;Jtkid eph;thfj;ij tYg;gLj;Jjy; 
IV. njhw;W Neha;fSf;fhd Muk;g Rfhjhu Nritia tYg;gLj;Jjy; 
a. I, II  b. III, IV c. I, II, III d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

39. Choose the correct statements about Health Help Line 
I. 104 Health Helpline is the centralized information system which serves the people 

through telecommunication in partnership with Tamilnadu 
II. It was launched on December 5, 2013 
III. It provides Information related to health and health care delivery system 
a. I, II  b. I, III c. II, III d. All of these  e. Answer not known 
Rfhjhu n`y;g;iyd; gw;wpa rhpahd $w;iw Njh;e;njLf;fTk; 
I. 104 cjtpvz; vd;gJ njhiyj;njhlh;G %yk; ,ize;J  jkpof kf;fSf;F Nrit 

nra;Ak; ikag;gLj;jg;gl;l jfty; mikg;ghFk;. 
II. ,J brk;gh; 5> 2013 md;W njhlq;fg;gl;lJ 
III. ,J cly;eyk; kw;Wk; Rfhjhu mikg;G njhlh;ghd jfty;fis toq;FfpwJ 
a. I, II  b. I, III  c. II, III d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
40. Choose the correct statements about Tamilnadu Health System Project (TNHSP) 

I. In 2005, the World Bank Approved this Project for a total cost of Rs.597.15 crores 
II. It Focusses on improving the health status of people belonging to the lower socio 

economic strata 
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
jkpo;ehL Rfhjhu mikg;G jpl;lk; gw;wpa rhpahd $w;Wfis Njh;T nra;aTk; 
I. 2005 Mk; Mz;by; cyf tq;fp ,e;j jpl;lj;jpw;F 597.15 Nfhb &gha;f;F xg;Gjy; 

mspj;jJ  
II. r%fg; nghUshjhuj;jpy; fPo; epiyapy; cs;sth;fSf;F jukhd Rfhjhu Nritfis 

toq;Ftjw;F ,J cjTfpwJ 
a. I kl;Lk;   b. II kl;Lk;   c. ,uz;Lk;  
d. vJTkpy;iy  e. tpil njhpatpy;iy 
 

41. Choose the incorrect statements about Tamilnadu Medical Services Corporation (TNMSC) 
I. It was setup with the primary objective of ensuring ready availability of all essential 

drugs and medicines in the Government Medical institutions throughout the state 
II. It was established in 1994 
III. It commenced its functions of purchase storage and distribution of drugs and 

medicines from 1996 
a. I only   b. II only   c. III only 
d. None of these  e. Answer not known 
jkpo;ehL kUj;Jt Nrit fofk; gw;wpa jtwhd $w;Wfis Njh;T nra;f 
I. khepyk; KOtJk; cs;s muR kUj;Jt epWtdq;fspy; midj;J mj;jpahtrpa 

kUe;Jfs; jahuhf ,Ug;gij cWjp nra;tij Kjd;ik Nehf;fkhf nfhz;Ls;sJ  
II. ,J 1994 ,y; epWtg;gl;lJ  
III. 1996 Kjy; kUe;Jfis nfhs;Kjy; nra;jy; kw;Wk; tpepNahfk; nra;jy; Mfpatw;wpd; 

nray;ghLfis mJ ftdpf;fpwJ 
a. I kl;Lk;   b. II kl;Lk;   c.  III kl;Lk;  
d. vJTkpy;iy  e. tpil njhpatpy;iy 
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42. Identify the beneficiaries of POSHAN Abhiyaan  
I. Children from birth to 6 years 
II. Pregnant women 
III. Lactating mothers 
a. I, II    b. I, III    c. II, III 
d. All of these  e. Answer not known 
Ngh~d; mgpahd; gadhspfis milahsk; fhzTk; 
I. gpwe;j Foe;ijfs; Kjy; MW taJ Foe;ijfs; tiu  
II. fh;g;gpzp ngz;fs; 
III. ghY}l;Lk; jha;khh;fs; 
a. I, II kl;Lk;    b. I, III kl;Lk;   c.  II, III kl;Lk;   
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

43. Choose the correct statements 
I. In Tamilnadu, Muthulakshmi Reddy was the first women Deputy Speaker of the 

Legislative Council 
II. In Tamilnadu the property rights to women were given for the first time in the 

country 
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
rhpahd $w;Wfis Njh;e;njLf;fTk; 
I. jkpo;ehl;bd; Kjy; ngz; rl;lkd;w Jiz rghehafh; Kj;Jyl;Rkp nul;b  
II. ehl;bNyNa Kjd;Kiwahf ngz;fSf;F nrhj;Jhpik toq;fpaJ jkpo;ehL jhd; 
a. I kl;Lk;   b. II kl;Lk;    c.  ,uz;Lk;  
d. vJTkpy;iy  e. tpil njhpatpy;iy 
 

44. Choose the correct statements about Sukanya Samriddhi Yojana 
I. It is a small deposit scheme for girl child 
II. It was launched as a part of the Beti Bachao Beti Padhao Campaign 
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
Rfd;ah rk;hpjp Nah[dh gw;wpa rhpahd $w;Wfis Njh;e;njLf;fTk; 
I. ,J ngz; Foe;ijfSf;fhd rpW itg;Gj; jpl;lk; 
II. ngz; Foe;ijfis fhg;Nghk;> ngz; Foe;ijfSf;F fw;gpg;Nghk; ,af;fj;jpd; xU 

gFjpahf ,J njhlq;fg;gl;lJ 
a. I kl;Lk;   b. II kl;Lk;   c.  I kw;Wk; II   
d. vJTkpy;iy  e. tpil njhpatpy;iy 
 

45. Choose the correct statements about cradle baby scheme 
I. It was launched at Salem 
II. It aimed to eliminate the incidence of Female infanticide 
III. It enables social empowerment of girl children 
a. I, II  b. I, III  c. II, III d. All of these e. Answer not known 
njhl;by; Foe;ij jpl;lk; gw;wpa rhpahd $w;Wfisj; Njh;e;njLf;fTk; 
I. ,J Nryj;jpy; njhlq;fg;gl;lJ 
II. ,J ngz; rpRf;nfhiyfis xopg;gij mfw;Wtij Nehf;fkhff; nfhz;lJ 
III. ,J ngz; Foe;ijfspd; r%f mjpfhuk; mspf;fpwJ 
a. I, II kl;Lk;    b. I, III kl;Lk;    c. II, III kl;Lk;  
d. ,it midj;Jk;   e. tpil njhpatpy;iy 
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46. Choose the correct statements about Tamilnadu Chief Ministers Girl Child Protection 
Scheme 
I. It encourages girls to get married only after the age of 18 years 
II. Earlier it as Sivagami Ammaiyar Memorial Girld Child Protection Scheme 
a. I, II  b. I only c. II only  d. None of these e. Answer not known 
jkpof Kjy;thpd; ngz;Foe;ij ghJfhg;G jpl;lk; Fwpj;j rhpahd $w;iwNjh;T nra;f 
I. ngz;fs; 18 taJ> Kbe;j gpwF jpUkzk; nra;tij Cf;Ftpf;fpwJ 
II. ,e;j jpl;lk; ,jw;F Kd;G rptfhkp mk;ikahh; epidT ngz; Foe;ij ghJfhg;G 

jpl;lk; vd;W miof;fg;gl;lJ 
a. I, II kl;Lk;  b. I kl;Lk; c.  II kl;Lk; d. vJTkpy;iy e. tpil njhpatpy;iy 
 

47. Under the Tamilnadu Chief Ministers Girl Child Protection Scheme, the annual income of 
the family should not exceed Rs. _________ 
a. 60,000  b. 72,000  c. 120000 d. 150000 d. Answer not known 
jkpof Kjy;th;fspd; ngz; Foe;ijfs; ghJfhg;G jpl;lj;jpd; fPo; FLk;g Mz;L tUkhdk; 
______ &gha;f;F kpfhky; ,Uf;f Ntz;Lk;  
a. 60,000  b. 72,000  c. 120000 d. 150000 e. tpil njhpatpy;iy 
 

48. Choose the correct statements about the Kudimaramathu scheme 
I. It was launched at Manimangalam Village in Kanchipuram district on 13 March 

2017 
II. It aims to restore the water bodies of Tamilnadu 
III. It included maintenance works in Canals, tanks, shutters and reconstruction works 
a. I, II  b. I, III   c. II, III d. All of these e. answer not known 
Fbkuhkj;J jpl;lj;ijg; gw;wpa rhpahd $w;iwj; Njh;e;njLf;fTk; 
I. ,J 13 khh;r; 2017 md;W fhQ;rpGuk; khtl;lj;jpy; cs;s kzpkq;fyk; fpuhkj;jpy; 

njhlq;fg;gl;lJ 
II. jkpofj;jpd; ePh;epiyfis kPl;nlLg;gNj ,jd; Nehf;fkhFk; 
III. mjpy; fhy;tha;fs; Vhpfs;> RUs; fjtiz guhkhpg;G gzpfs; kw;Wk; Gzuikg;G 

gzpfs; Mfpait mlq;Fk; 
a. I, II kl;Lk;    b. I, III kl;Lk;    c. II, III kl;Lk;   
d. ,it midj;Jk;   e. tpil njhpatpy;iy 
 

49. Choose the correct statements about cradle baby scheme 
I. The District Social Welfare officer and extension officers are the officials for availing 

the information to beneficiaries and also organise camps, conference 
II. Because of the implementation of this scheme, child sex ratio was raised from 

942/1000 in 2001 to 943/1000 in 2011 
a. I only b. II only c. I, II  d. None of these  e. Answer not known 
njhl;by; Foe;ij jpl;lk; gw;wpa rhpahd $w;iwj; Njh;e;njLf;fTk; 
I. khtl;l r%f ey mYtyh; kw;Wk; tphpthf;f mYtyh;fs;> gadhspfSf;F jfty; 

njhptpg;gJld;> Kfhk;fs; elj;Jtjw;fhd mjpfhhpfshf cs;sdh;. 
II. ,j;jpl;lj;ij mky;gLj;jpajhy;> Foe;ij ghypd tpfpjk; 2001y; 942/1000 Mf 

,Ue;jJ> 2011y; 943/1000 Mf cah;e;Js;sJ 
a. I kl;Lk; b. II kl;Lk; c. I, II kl;Lk;  d. vJTkpy;iy e. tpil njhpatpy;iy

  
50. Choose the correct statements about THAI Scheme  

I. It was launched in 2006 
II. Aims to provide minimum basic infrastructure facilities to all the habitations in 

villages 
III. Tamil Nadu is the only state focusing on ‘Habitation’ as the unit of development 
a. I, II  b. I, III   c. II, III d. All of these e. Answer not known 
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jha; jpl;lk; gw;wpa rhpahd $w;iwj; Njh;e;njLf;fTk; 
I. ,J 2006 ,y; njhlq;fg;gl;lJ 
II. ,jd; Nehf;fk; fpuhkq;fspy; cs;s midj;J FbapUg;GfSf;Fk; Fiwe;jgl;r 

mbg;gil fl;likg;G trjpfis toq;f Ntz;Lk; 
III. jkpo;ehL tsh;r;rpapd; myfhf “tho;tplj;ij” ikakhff; nfhz;l xNu khepyk; 
a. I, II  b. I, III   c.  II, III  d. ,it midj;Jk; e. tpil njhpatpy;iy 
 

51. How many pairs are correctly matched? 
Scheme    Launched Year 
I. AMMA Thittam  - 2012 
II. AMMA Unavagam  - 2013 
III. AMMA Baby Care Kit - 2014 
IV. AMMA Kudineer  - 2013 
a. One pair   b. Two pairs    c. Three pairs 
d. Four pairs   e. Answer not known 
vj;jid ,izfs; rhpahfg; nghUe;Jfpd;wd 
I. mk;kh jpl;lk; - 2012 
II. mk;kh cztfk; - 2013 
III. mk;kh Foe;ij guhkhpg;G ngl;lfk; - 2014 
IV. mk;kh Fb ePh; - 2013 
a. Xh; ,iz   b. ,U ,izfs;   c. %d;W ,iz   
d. ehd;F ,iz  e. tpil njhpatpy;iy 
 

52. Consider the following 
Assertion (A): In Tamilnadu April 15 is observed as Transgender Day 
Reason (R): To commemorate the day in which the Transgender welfare Board was formed 
in 2006 
a. A and R are true and R is the correct explanation of A 
b. A and R are true and R is not the correct explanation of A 
c. A is true, R is false 
d. A is false, R is true 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): jkpofj;jpy; Vg;uy; 15 %d;whk; ghypdj;jth; jpdkhf mDrhpf;fg;gLfpwJ 
fhuzk; (R): %d;whk; ghypdj;jth;fSf;fhd ey thhpak; 2006 ,y; cUthf;fg;gl;l  

jpdj;ij epidT$Uk; tifapy; mDrhpf;fg;gLfpwJ 
a. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp> R jtW 
d. A jtW> R rhp 
e. tpil njhpatpy;iy 
 

53. Which of the following state is the first state to introduce a transgender welfare policy? 
a. Andhra Pradesh  b. Tamilnadu   c. Gujarat 
d. Karnataka   e. Answer not known 
gpd;tUk; khepyq;fspy; jpUeq;iffs; eyf; nfhs;ifia mwpKfg;gLj;jpa Kjy; khepyk; 
vJ? 
a. Me;jpug; gpuNjrk;   b. jkpo;ehL     c.  F[uhj;  
d. fh;ehlfh   e. tpil njhpatpy;iy 
 

54. The Integrated child protection scheme was introduced in 
a. 1992 b. 1995 c. 2005  d. 2009 e. Answer not known 
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vg;nghOJ xUq;fpize;j Foe;ijfs; ghJfhg;G jpl;lk; mwpKfg;gLj;jg;gl;lJ 
a. 1992  b. 1995  c. 2005  d. 2009 e. tpil njhpatpy;iy 
 

55. Choose the correct statements about Beti Bachao Beti Padhao 
I. It was launched by Government of India in 2016 
II. It aimed to address the declining child sex ratio in the districts where it is far below 

national average 
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
Ngl;b gr;rhNth Ngl;bghNjh gw;wpa rhpahd $w;Wfisj; Njh;e;njLf;fTk; 
I. ,J 2016 ,y; ,e;jpa murhy; njhlq;fg;gl;lJ 
II. ,J Foe;ijg; ghypd tpfpjk; Njrpa ruhrhpia tpl kpff; Fiwthf cs;s 

khtl;lq;fspy;; mjpfg;gLj;Jtij Nehf;fkhff; nfhz;lJ. 
a. I kl;Lk;    b. II kl;Lk;    c. I kw;Wk; II 
d. vJTk; ,y;iy  e. tpil njhpatpy;iy 
 

56. P alone can do ½ of a work in 6 days and Q alone can do 2/3 of the same work in 4 days. In 
how many days working together, will they finish ¾ of the work?  
a. 2 days  b. 3 days    c. 4 days    
d. 6 days  e. Answer not known 
P vd;gtu; jdpNa xU Ntiyapd; 1/2 gFjpia 6 ehs;fspYk;> Q vd;gtu; jdpNa mNj 
Ntiyapd; 2/3 gFjpia 4 ehs;fspYk; Kbg;gu;. ,UtUk; ,ize;J me;j Ntiyapd; ¾ 
gFjpia vj;jid ehs;fspy; Kbg;gu;? 
a. 2 ehl;fs;  b. 3 ehl;fs;    c. 4 ehl;fs; 
d. 6 ehl;fs;  e. tpil njhpatpy;iy 

 
57. From home, Rajan rides on his motorbike at 35 km/hr and reaches his office 5 minutes late. 

If he had ridden at 50 km/hr, he would have reached his office 4 minutes earlier. How far 
is his office from his home? 
a. 15 ½ km  b. 16 ¼ km    c. 17 ½ km   
d.18 1/3km  e. Answer not known 
,uh[d; jd; tPl;bypUe;J ,U rf;fu thfdj;jpy; kzpf;F 35 fp.kP Ntfj;jpy; nrd;W 
jd;Dila mYtyfj;ij 5 epkplk; jhkjkhfr; nrd;wilfpwhu;. mtu; kzpf;F 50 fp.kP 
Ntfj;jpy; nrd;wpUe;jhy;> mYtyj;ij 4 epkplk; Kd;djhfNt nrd;wile;jpUg;ghu; vdpy; 
mtUila mYtyfk;> tPl;bypUe;J vt;tsT njhiytpy; cs;sJ? 
a. 15 ½ km  b. 16 ¼ km    c. 17 ½ km   
d.18 1/3 km  e. tpil njhpatpy;iy 

 
58. X alone can do a piece of work in 6 days and Y alone in 8 days. X and Y undertook the 

work for Rs.4800. With the help of Z, they completed the work in 3 days. How much is Z’s 
share?  
a. Rs. 500  b. Rs. 600     c. Rs.800    
d. Rs.1200  e. Answer not known 
X vd;gtu; jdpNa xU Ntiyia 6 ehs;fspYk;> Y vd;gtu; jdpNa mNj Ntiyia 8 
ehs;fspYk; Kbg;gu;. X kw;Wk; Y MfpNahu; ,e;j Ntiyia Rs.4800 ,f;F xg;Gf; 
nfhz;ldu;. Z vd;gtupd; cjtpAld;> mtu;fs; me;j Ntiyia 3 ehs;fspy; Kbj;jdu; 
vdpy;> njhifapy; Z ,d; gq;F vt;tsT? 
a. Rs.500  b. Rs.600     c. Rs.800    
d. Rs.1200  e. tpil njhpatpy;iy 
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59. A tap A can fill a drum in 10 minutes. A second tap B can fill in 20 minutes. A third tap C 
can empty in 15 minutes. If initially the drum is empty, find when it will be full if all taps 
are opened together? 
a. 10 min   b. 12 min   c. 15 min   
d. 18 min   e. Answer not known 
A vd;w Foha; xU nghpa ghj;jpuj;ijj; jdpNa 10 epkplq;fspy; epug;Gk;. B vd;w Foha; 
mNj ghj;jpuj;ijj; jdpNa 20 epkplq;fspy; epug;Gk;. ePu; epug;gpAs;s mg;ghj;jpuj;ij C vd;w 
Foha; 15 epkplq;fspy; fhyp nra;Ak;. Muk;gj;jpy; ghj;jpuk; fhypahf ,Ue;J> ,k;%d;W 
Foha;fisAk; jpwe;jhy;> mg;ghj;jpuk; epuk;g vt;tsT NeukhFk;? 
a. 10 epkplq;fs;  b. 12 epkplq;fs;   c. 15 epkplq;fs; 
d. 18 epkplq;fs;  e. tpil njhpatpy;iy 

 
60. 210 men working 12 hours a day can finish a job in 18 days. How many men are required to 

finish the same job in 20 days working 14 hours a day? 
a. 160   b. 162    c. 164    
d. 169   e. Answer not known 
210 Mz;fs; ehnshd;Wf;F 12 kzp Neuk; Ntiy nra;J Ntiyia 18 ehs;fspy; Kbg;gu;. 
mNj Ntiyia ehnshd;Wf;F 14 kzp Neuk; Ntiy nra;J> 20 ehs;fspy; Kbf;f vj;jid 
Mz;fs; Njit? 
a. 160   b. 162    c. 164    
d. 169   e. tpil njhpatpy;iy 

 
61. Which of the following districts of Tamilnadu received BBBP National Award 2019? 

a. Cuddalore   b. Dharmapuri  c. Namakkal 
d. Thiruvallur  e. Answer not known 
2019 Mk; Mz;bw;fhd BBBP Njrpa tpUij jkpofj;jpd; ve;j khtl;lk; ngw;wJ? 
a. flY}h;    b. jh;kGhp    c.  ehkf;fy;    
d. jpUts;Sh;   e. tpil njhpatpy;iy 
 

62. Choose the correct statements regarding the Dhanalaxmi Scheme 
I. It was launched by Government of Tamilnadu in 2008 
II. It aims to provide a set of staggered financial incentives for families to encourage 

them for better upbringing of girl child and to educate her 
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
jdyf;~;kp jpl;lk; njhlh;ghd rhpahd mwpf;iffisj; Njh;e;njLf;fTk; 
I. ,J 2008 ,y; jkpof murhy; njhlq;fg;gl;lJ 
II. ngz; Foe;ijfis rpwg;ghf tsh;g;gjw;Fk;> mth;fs; fy;tp fw;gij 

Cf;Ftpg;gjw;fhfTk; FLk;gq;fSf;F epiyahd epjpr; rYiffis toq;Ftij ,J 
Nehf;fkhff; nfhz;Ls;sJ. 

a. I kl;Lk;    b. II kl;Lk;    c.  I kw;Wk; II  
d. vJTk; ,y;iy  e. tpil njhpatpy;iy 
 

63. Which was the first state in India and notify the state juvenile justice rules? 
a. Tamilnadu   b. Andhra Pradesh   c. Karanataka 
d. Kerala   e. Answer not known 
,e;jpahtpy; khepy rpwhh; ePjp tpjpfis mwptpj;j Kjy; khepyk; vJ? 
a. jkpo;ehL    b. Me;jpug; gpuNjrk;    c.  fh;ehlfk; 
d. Nfush   e. tpil njhpatpy;iy 
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64. Choose the correct statements 
I. Out of total area of cultivated land, percentage of non-food crop is greater than food 

crops. 
II. Paddy is major contributor to total amount of food Production in Tamilnadu. 
III. After Paddy, Wheat is second most Produced crop in Tamilnadu. 
a. II only   b. II and III only    c. I and II only  
d. All the above  e. Answer not known 
rhpahd $w;Wfis fz;lwpf 
I. rhFgb nra;ag;gl;l epyj;jpd; nkhj;j gug;gstpy; czT my;yhj gaph;fspd; rjtPjk; 

czTg; gaph;fis tpl mjpfkhf cs;sJ 
II. jkpo;ehl;bd; nkhj;j czT cw;gj;jpapy; ney; Kf;fpa gq;F tfpf;fpwJ 
III. ney;Yf;F mLj;J> NfhJik jkpo;ehl;by; mjpfk; cw;gj;jp nra;ag;gLk; gapuhFk; 
a. II kl;Lk;   b. II kw;Wk; III kl;Lk;  c. I kw;Wk; II kl;Lk;   
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

65. Find correctly matched pairs. 
1. Bharat Heavy Electrical Limited – Tiruchirapalli 
2. Integrated coach factory – Perambalur 
3. Steel Authority of India Limited – Salem 
4. Heavy Vehicle Factory – Chengalpattu 
a. 1 and 3 only  b. 2 and 4 only   c. All the above   
d. None of the above e. Answer not known 
rhpahf nghUe;jpAs;s ,iziaj; Njh;T nra;f 
1. ghuj kpF kpd; epWtdk; - jpUr;rpuhg;gs;sp 
2. xUq;fpize;j ,uapy;ngl;b njhopw;rhiy – nguk;gY}h;  
3. ,e;jpa v/F cUf;F epWtdk; - Nryk; 
4. fduf thfdj; njhopw;rhiy – nrq;fy;gl;L 
a. 1 & 3 kl;Lk;  b. 2 & 4 kl;Lk;   c. Nkw;fz;l midj;Jk;  
d. vJTkpy;iy  e. tpil njhpatpy;iy 

 
66. Find correctly matched pairs. 

1. Kancheepuram - Silk Sarees 
2. Dindigul  - Leather 
3. Erode  - Turmeric 
4. Namakkal  - Poultry farms 
5. Tiruchirapalli -  Boiler & Turbine 
6. Karur  - Bus body building 
a. 1, 3 and 4 only  b. 1, 3 and 5 only   c. 2, 4 and 6 only   
d. All the above  e. Answer not known 
rhpahf nghUe;jpAs;s ,iziaf; fhz;f 
1. fhQ;rpGuk;  - gl;Lr;Nriy 
2. jpz;Lf;fy; - Njhy; 
3. <NuhL  - kQ;rs; 
4. ehkf;fy;  - Nfhopg;gz;iz 
5. jpUr;rp  - nfhjpfyd; kw;Wk; tpirahop 
6. f&h;  - NgUe;J Nkw;Gw fl;likg;G 
a. 1> 3 kw;Wk; 4 kl;Lk; b. 1> 3 kw;Wk; 5 kl;Lk;  c. 2> 4 kw;Wk; 6 kl;Lk;  
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
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67. Choose the correct statements 
1. Major leather producing clusters are around Vellore, Erode, Chennai, Dindigul, 

Ranipet. 
2. Vellore is top exporter of finished leather goods in country. 
3. Tamilnadu has 60% of all leather tanning capacity in country. 
a. 1, 2 and 3 only   b. 1 and 2 only  c. 2 and 3 only   
d. 1 and 3 only   e. Answer not known 
rhpahd $w;Wfis fz;lwpf 
1. mjpf Njhy; cw;gj;jp njhFg;Gfs; NtY}h; <NuhL> nrd;id> jpz;Lf;fy;> ,uhzpNgl;il 

Mfpatw;iw Rw;wpAs;sd 
2. NtY}h; ehl;bd; rpwe;j Njhy; nghUl;fspd; cw;gj;jp ,lkhFk; 
3. ehl;bd; Njhy; gjdpLk; jpwdpy; 60% I jkpo;ehL nfhz;Ls;sJ 
a. 1> 2 kw;Wk; 3 kl;Lk;  b. 1 kw;Wk; 2 kl;Lk;  c. 2 kw;Wk; 3 kl;Lk;   
d. 1 kw;Wk; 3 kl;Lk;  e. tpil njhpatpy;iy 

 
68. Special Economic Zone of ELCOT has been setup in ___ areas. 

a. 3  b. 5  c. 8  d. 10  e. Answer not known 
ELCOT,d; rpwg;G nghUshjhu kz;lyk; ______ gFjpfspy; mikf;fg;gl;Ls;sJ 
a. 3  b. 5  c. 8  d. 10  e. tpil njhpatpy;iy 

 
69. Choose the correct answer. 

I. Startup India scheme was started on 16 January 2016. 
II. It facilitates bank loan of Rs. 10 lakh to Rs. 1 crore to at least one SC/ST borrower per 

bank branch for setting up a greenfield enterprise. 
a. I only   b. II only   c. Both I and II   
d. None of above  e. Answer not known 
gpd;tUk; $w;Wfspy; rhpahd $w;Wfis fz;lwpf 
I. ];lhh;l;mg; ,e;jpah jpl;lk; 2016> [dthp 16,y; njhlq;fg;gl;lJ 
II. ,J Gjpa epWtdj;ij mikg;gjw;F> Fiwe;jgl;rk; xU gl;bay; ,dj;jth; / 

goq;Fb ,dj;jth; fld; thq;FgtUf;F &.10 yl;rk; Kjy; 1 Nfhb &gha;  
tq;fpf;flid vspjhf;Fjy; 

a. I kl;Lk;   b. II kl;Lk;   c. I & II ,uz;Lk;  
d. vJTkpy;iy  e. tpil njhpatpy;iy 

  
70. Match following with correct options. 

A. Bauxite   1. Thoothukudi 
B. Lignite   2. Salem 
C. Molybdenum  3. Cuddalore 
D. Monazite   4. Dharmapuri 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 2 3 4 1 
d. 2 1 4 3 
e. Answer not known 
nghUj;Jf 
A. ghf;irl;   1. J}j;Jf;Fb 
B. ypf;idl;   2. Nryk; 
C. khypg;bdk;  3. flY}h; 
D. NkhNdhirl;  4. jh;kGhp 
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 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 2 3 4 1 
d. 2 1 4 3 
e. tpil njhpatpy;iy 

 
71. Choose the correct statements about Ramalinga Adigal. 

i. He popularized Jeevakarunyam – to show compassion on all living things. 
ii. He established Samarasa Sanmarga Sangam in 1865. 
iii. He established Sathya Gnana Sabha at Vadalur. 
iv. He wrote Manu murai kanda vaasagam. 
v. His works were called ‘Marutpa’ 
a. i, iii only   b. ii and iv only   c. i, ii, iii, iv only    
d. All of these  e. Answer not known 
,uhkypq;f mbfs; Fwpj;j rhpahd $w;Wfis Njh;f 
i. vy;yh caph;fsplKk; ,uf;fk; fhl;l mth; [PtfhUz;aj;ij gpugyg;gLj;jpdhh; 
ii. 1865,y; rkur rd;khh;f;f rq;fj;ij Njhw;Wtpj;jhh; 
iii. tlY}hpy; rj;aQhd rigia Njhw;Wtpj;jhh; 
iv. kDKiw fz;l thrfj;ij vOjpdhh; 
v. ,tuJ gilg;Gfs; “kUl;gh” vd miof;fg;gl;lJ 
a. i, iii kl;Lk;   b. ii kw;Wk; iv kl;Lk;  c. i, ii, iii, iv kl;Lk;   
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

 
72. First conference of Dravida Mahajana Sabha was held at. 

a. Chennai   b. Kancheepuram   c. Nilgiris    
d. Coimbatore  e. Answer not known 
jpuhtpl kfh[d rigapd; Kjy; $l;lk; eilngw;w ,lk; vJ? 
a. nrd;id   b. fhQ;rpGuk;    c. ePyfphp    
d. Nfhak;Gj;J}h;  e. tpil njhpatpy;iy 

 

73. Choose the correct statements about Maraimalai Adigal 
i. He was father of Tani Tamil Movement 
ii. He started ‘Thani Tamil Iyakkam’ that demanded a separate state of Tamilnadu. 
iii. His journal was Arivukkadal. 
iv. He ran an institution named Potu Nilaik Kalakam. 
v. He compiled dictionary pure Tamil words to Sanskrit words that crept into Tamil 

vocabulary. 
a. i, ii, iii and iv only  b. i, iii, iv and v only  c. i, iii and iv only  
d. all the above   e. Answer not known 

 kiwkiy mbfs; gw;wpa rhpahd $w;Wfis Njh;f 
i. mth; jdpj;jkpo; ,af;fj;jpd; je;ij vdg;gLfpwhh; 
ii. jkpo;ehl;il jdp khepykhff; NfhUk; “jdp jkpo; ,af;fj;ij” njhlq;fpdhh; 
iii. ,thpd; gj;jphpf;if mwpTf;fly; 
iv. nghJ epiyf;fofk; vDk; epWtdj;ij elj;jpdhh; 
v. rk];fpUj nrhw;fSf;F J}a jkpo; nrhw;fisf; nfhz;l mfuhjpiaj; njhFj;jhh; 
a. i, ii, iii kw;Wk; iv kl;Lk;  b. i, iii, iv kw;Wk; v kl;Lk;  c. i, iii kw;Wk; iv kl;Lk; 
d. ,it midj;Jk;   e. tpil njhpatpy;iy 

 

74. ‘Chitraputtiran’ was pseudonym of, 
a. E.V.R. Periyar  b. Bharathiyar   c. Bharathidasan   
d. Singaravelar  e. Answer not known 
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‘rpj;jpuGj;jpud;’ vDk; Gidg;ngaiuf; nfhz;lth; ahh;? 
a. <.Nt.uh. nghpahh;  b. ghujpahh;    c. ghujpjhrd;    
d. rpq;fhuNtyh;  e. tpil njhpatpy;iy 

 
75. Who said “world will prosper in knowledge and intellect if both men and women are 

deemed equal”? 
a. Bharathiyar   b. E.V.R. Periyar  c. Subash Chandra Bose  
d. Dr.B.R.Ambedkar  e. Answer not known 
“Mz;fSk; ngz;fSk; rkkhff; fUjg;gl;lhy; cyfk; mwptpYk; Mw;wypYk; tsUk;” vd;W 
$wpath;? 
a. ghujpahh;    b. <.Nt.uh.nghpahh;  c. Rgh~; re;jpu Ngh];  
d. Dr.B.R. mk;Ngj;fh;  e. tpil njhpatpy;iy 

 
76. Who said ‘humans respected on basis of caste to which he belongs to is barbarian and anti-

human thinking? 
a. Dr.B.R.Ambedkar   b.  E.V.R. Periyar   c. Jyotibaphule  
d. A.R.Desai    e. Answer not known 
“rhjpapd; mbg;gilapy; kdpjh;fs; kjpf;fg;gLtJ fhl;L kpuhz;bjdk; kw;Wk; kdpj vjph;g;G 
rpe;jid” vd;W $wpath; ahh;? 
a. Dr.B.R. mk;Ngj;fh;  b. <.Nt.uh. nghpahh;   c. N[hjpghg+Ny  
d. A.R.Njrha;    e. tpil njhpatpy;iy 

 
77. Kulakalvi Scheme was abolished by  

a. Rajaji    b. Bhaktawatsalam   c. C.N.Annadurai  
d. K.Kamaraj   e. Answer not known 
Fyf;fy;tp jpl;lj;ij xopj;jth; ahh;? 
a. ,uh[h[p      b. gf;jtr;ryk;   c. C.N.mz;zhJiu  
d. Nf.fhkuh[;    e. tpil njhpatpy;iy 

 
78. Which British, a member of Governor General’s executive council submitted statistical 

details in 1913 to prove Brahmins who form 3% of population cornered most opportunities. 
a. Tremancre    b. Thomas Munro   c. Thomas Babbage  
d. Alexander Gordon Cardew e. Answer not known 
1913 Mk; Mz;bd; Gs;sptptuq;fs; gb> ve;j gphpl;b~; fth;dh; n[duypd; eph;thff; FOtpd; 
cWg;gpdh;;> 3% kf;fs;njhif nfhz;l gpuhkzh;fs; ngUk;ghyhd tha;g;Gfisf; 
nfhz;Ls;sdh; vd;W ep&gpj;jhh;? 
a. l;nukd;fh;    b. jhk]; kd;Nwh   c. jhk]; ghNg[;  
d. mnyf;rhz;lh; Nfhh;ld; fhh;l;a+ e. tpil njhpatpy;iy 

 
79. Self respect movement involved 

a. Fight against religion in justifying superstitions 
b. Equal status and opportunity for women 
c. Equal status to all individuals irrespective of caste  
d. All the above 
e. Answer not known 
Rakhpahij ,af;fk; cs;slf;fpaJ? 
a. %lek;gpf;iffis epahag;gLj;Jk; kjj;jpw;F vjpuhf NghuhLjy;. 
b. ngz;fSf;F rkkhd jFjp kw;Wk; Ntiytha;g;G  
c. rhjpia nghUl;gLj;jhky; midj;J jdpegh;fSf;Fk; rk me;j];J 
d. Nkw;fz;l midj;Jk; 
e. tpil njhpatpy;iy 
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80. What was Erode plan of 1932? 
a. propagation of Non-Brahmin interest among masses 
b. Preventing domination of Aryan languages like Sanskrit and Hindi 
c. Common programme supporting social reform of self respect movement and economic 

reform of labour movement  
d. All the above 
e. Answer not known 
1932-d; <NuhL jpl;lk; vJ? 
a. kf;fspilNa gpuhkzuy;yhNjhh; chpikiag; gug;Gjy;. 
b. rk];fpUjk;> ,e;jp Nghd;w Mhpa nkhopfspd; Mjpf;fj;ijj; jLj;jy;. 
c. Rakhpahij ,af;fj;jpd; r%f rPh;j;jpUj;jk; kw;Wk; njhopyhsh; ,af;fj;jpd; nghUshjhu 

rPh;jpUj;jj;ij Mjhpf;Fk; nghJthd jpl;lk; 
d. Nkw;fz;l midj;Jk; 
e. tpil njhpatpy;iy 

 
81. Who said “laws and Rules are for the people, people are not for law and rules? 

a. Mahatma Gandhi   b. E.V.R. Periyar    c. K. Kamaraj 
d. B.R. Ambedkar   e. Answer not known 
“rl;lq;fSk;> tpjpfSk; kf;fSf;fhdit> kf;fs; rl;lk; kw;Wk; tpjpfSf;fhf ,y;iy” vd;W 
$wpath; ahh;? 
a. kfhj;kh fhe;jp   b. <.Nt.uh.nghpahh;    c. fhkuh[h;  
d. B.R. mk;Ngj;fh;   e. tpil njhpatpy;iy 

 
82. Who become the first elected legislative Council Member (1920-26) from depressed class in 

Madras Province? 
a. Iyoothee Thasar   b. Rettaimalai Srinivasan  c. M.C. Rajah  
d. Dharmambal   e. Answer not known 
nkl;uh]; khfhzj;jpy; jho;j;jg;gl;l tFg;gpypUe;J Nju;e;njLf;fg;gl;l Kjy; rl;lkd;w 
cWg;gpdu; ahh;? 
a. mNahj;jp jhrh;   b. nul;ilkiy rPdpthrd;  c. M.C. ,uh[h  
d. jUkhk;ghs;    e. tpil njhpatpy;iy 

 
83. Which of the following denotes ‘Pottu kattudal’? 

a. Decorating bulls before Jalakattu 
b. Art and architecture of ancient temples of Tamil Nadu. 
c. Dedication of women to Hindu temples  
d. None of the above 
e. Answer not known 
“nghl;L fl;Ljy;” vdf; Fwpg;gpLtJ gpd;tUtdtw;Ws; vJ? 
a. [y;ypf;fl;Lf;F fhisfis myq;fhpj;jy;. 
b. jkpo;ehl;by; cs;s goq;fhy Nfhapy;fspd; fiy kw;Wk; fl;blghzp. 
c. ,e;J Nfhtpy;fSf;F ngz;fis mh;g;gzpj;jy; 
d. Nkw;fz;l vJTkpy;iy 
e. tpil njhpatpy;iy 

 
84. Choose the correct statements 

1. Chennai is largest Airport in India followed by Mumbai  and Delhi. 
2. Tamil Nadu ranks second in India in total road projects in India under public – private 

partnership model. 
a. 1 only    b.  2only   c. Both 1 and 2   
d. None of the above  e. Answer not known 
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gpd;tUtdtw;Ws; rhpahdij Nju;T nra;f. 
1. ,e;jpahtpd; kpfg;nghpa tpkhd epiyak; nrd;id> mijj; njhlh;e;J Kk;ig kw;Wk; 

nly;yp 
2. muR – jdpahh; $l;lhz;ik khjphpapd; fPo; ,e;jpahtpy; nkhj;j rhiy jpl;lq;fspy; 

jkpo;ehL, ,e;jpahtpy; ,uz;lhtJ ,lj;jpy; cs;sJ. 
a. 1 kl;Lk;    b. 2 kl;Lk;   c. 1 & 2 ,uz;Lk;   
d. vJTkpy;iy   e. tpil njhpatpy;iy 

 
85. Intermediate port in Tamil Nadu is located at  

a. Ennore   b. Rameshwaram   c. Nagapattinam  
d. Cuddalore   e. Answer not known 
jkpo;ehl;by; ,ilepiy JiwKfk; vq;F mike;Js;sJ. 
a. vz;Z}h;   b. ,uhNk];tuk;   c. ehfg;gl;bdk;  
d. flY}h;   e. tpil njhpatpy;iy 
 

86. A car travels 90km in 2hours 30minutes. How much time is required to cover 210km? 
a. 05 hours 05 minutes   b. 05 hours 50 minutes 
c. 06 hours 15 minutes   d. 06 hours 45 minutes 
e. Answer not known 
xU kfpOe;J 90 fp.kP J}uj;ijf; flf;f vLj;Jf;nfhs;Sk; Neuk; 2 kzp 30 epkplq;fs;. mNj 
kfpOe;J 210 fp.kP J}uj;ijf; flf;f vLj;Jf;nfhs;Sk; Neuk; vt;tsT? 
a. 05 kzp 05 epkplk;   b. 05 kzp 50 epkplk; 
c. 06 kzp 15 epkplk;   d. 06 kzp 45 epkplk; 
e. tpil njhpatpy;iy 

 
87. A works 3 times as fast as B and is able to complete a task in 24 days less than the days 

taken by B. Find the time in which they can complete the work together. 
a. 9 days  b. 12 days   c. 3 days 
d. 6 days  e.  Answer not known  
A Mdtu; B I fhl;bYk;  3 klq;F Ntfkhf xU Ntiyia nra;J Kbg;ghh;. mtuhy; 
me;jg; gzpia B vLj;Jf; nfhz;l Neuj;ij tpl 24 ehl;fs; Fiwthf vLj;J Kbf;f 
KbfpwJ. ,UtUk; Nrh;;e;J me;j Ntiyia Kbf;f MFk;, Neuj;ij fhz;f. 
a. 9 ehl;fs;   b. 12 ehl;fs;   c. 3 ehl;fs; 
d. 6 ehl;fs;   e. tpil njhpatpy;iy      

 
88. Arul, Ravi and Ram working together can clean a store in 6 hours. Working alone, Ravi 

takes twice as long to clean the store as Arul does. Ram needs three times as long as Arul 
does. How long would it take each if they are working alone?  
a. 11 hours, 22 hours, 33 hours  b. 10 hours, 20  hours, 30 hours 
c. 5 hours, 10 hours, 15 hours  d. 7hours, 14 hours, 21 hours 
e. Answer not known 
mUs;> ,utp kw;Wk; ,uhk; %tUk; ,ize;j xU filia 6 kzp Neuj;jpy; Rj;jk; 
nra;fpd;wdu;. jdpj;jdpahfr; Rj;jk; nra;jhy; mUisg; Nghy ,Uklq;F Neuk; ,utp 
vLj;Jf; nfhs;fpwhu;> NkYk; ,uhk;> mUspd; Neuj;ijg;Nghy Kk;klq;F vLj;Jf;nfhs;fpwhu; 
vdpy;> %tUk; jdpj;jdpahf vt;tsT Neuk; vLj;Jf;nfhs;thu;fs;.  
a. 11 kzp Neuk;> 22 kzp Neuk;> 33 kzp Neuk;  
b. 10 kzp Neuk;> 20 kzp Neuk;> 30 kzp Neuk; 
c. 5 kzp Neuk;> 10 kzp Neuk;> 15 kzp Neuk;   
d. 7 kzp Neuk;> 14 kzp Neuk;> 21 kzp Neuk; 
e. tpil njhpatpy;iy 
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89. A and B together can complete a work in 15 days. B alone can complete the same work in 
45 days. Then  
a. A is twice as good workman as B 
b. B is twice as good workman as A 
c. A is thrice as good workman as B 
d. B is thrice as good workman as A 
e. Answer not known 
A kw;Wk; B Nrh;e;J xU Ntiyia 15 ehl;fspy; nra;J Kbg;gu;. ,Nj Ntiyia jdpahf 
B, 45 ehl;fspy; nra;J Kbg;ghu; vdpy; 
a. B ia tpl A ,U klq;F ey;y Ntiyf;fhuh; 
b. A ia tpl B ,U klq;F ey;y Ntiyf;fhuh; 
c. B ia tpl A Kk;klq;F ey;y Ntiyf;fhuh; 
d. A ia tpl B Kk;klq;F ey;y Ntiyf;fhuh; 
e. tpil njhpatpy;iy 

 
90. A student goes to school from his house at the speed 3 km/hr and returns at the speed of 2 

km/hr. If he takes 5 hours in going and coming the distance between his house and school 
is. 
a. 5 km    b. 5.5 km   c. 6 km   
d. 6.5 km   e. Answer not known 
xU khztd; mtDila gs;spf;F nry;Yk; NghJ kzpf;F 3 fp.kP Ntfj;jpYk; 
gs;spapypUe;J tPL jpUk;Gk; NghJ kzpf;F 2 fp.kP Ntfj;jpYk; nry;fpwhh;. NkYk; mth; 
gs;spf;F nrd;W tu 5 kzpNeuk; vLj;Jf; nfhz;lhy; gs;spf;Fk; tPl;bw;Fk; cs;s J}uk;. 
a. 5fp.kP   b. 5.5fp.kP   c. 6fp.kP   
d. 6.5fp.kP   e. tpil njhpatpy;iy 
 

91. Choose the correct statements 
1. There are 23 minor ports in Tamil Nadu. 
2. Chennai is a natural harbour and second principal port in handling containers. 
a. 1 only   b.  2only    c. Both 1 and 2   
d. None of the above e. Answer not known 
gpd;tUtdtw;Ws; rhpahdtw;iw Njh;T nra;f. 
1. jkpo;ehl;by; nkhj;jk; 23 rpwpa JiwKfq;fs; cs;sJ. 
2. nrd;id xU ,aw;if JiwKfk;> kw;Wk; nfhs;fyd;fisf; ifahs;tjpy; ,uz;lhtJ 

nghpa JiwKfkhFk;. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 & 2 ,uz;Lk;   
d. vJTkpy;iy  e. tpil njhpatpy;iy 
 

92. When was Madras state renamed as Tamilnadu? 
a. January 1, 1968  b. January 14, 1969   c. April 14, 1969   
d. April 1, 1967  e. Answer not known 
kjuh]; khepyk; vg;NghJ jkpo;ehL vd;W ngah;khw;wk; nra;ag;gl;lJ? 
a. [dthp 1> 1968  b. [dthp 14> 1969   c. Vg;uy; 14> 1969   
d. Vg;uy; 1> 1967  e. tpil njhpatpy;iy 

 
93. Highest peak in Nilgiris is 

a. Anaimalai   b. Ooty   c. Doddabetta   
d. Mukkuruthi  e. Answer not known 
ePyfphp kiyapd; kpf caukhd rpfuk; 
a. Midkiy  b. Cl;b   c. njhl;lngl;lh   
d. Kf;FUj;jp   e. tpil njhpatpy;iy 
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94. Match the following 
A. Nilgiris Hills  1. Ooty 
B. Palani Hills  2. Kodaikanal 
C. Anaimalai Hills  3. Valparai 
D. Pothigai   4. Agasthiyar Hills 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 2 4 3 
d. 1 4 3 2 
e. Answer not known 
nghUj;Jf 
A. ePyfphp kiy  1. Cl;b 
B. godp kiy  2. nfhilf;fhdy; 
C. Midkiy  3. thy;ghiw 
D. nghjpif   4. mfj;jpah; kiy 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 2 4 3 
d. 1 4 3 2   e. tpil njhpatpy;iy 

 

95. Match the following 
A. Aliyar reserved forest    1. Varshnadu and Andipatti 
B. Srivilliputhur grizzled squirrel Sanctuary 2. Mahendragiri 
C. Kalakkad Mundanthurai tiger reserve  3. Pothigai 
       4. Anaimalai 

A B C  
a. 1 2 3  
b. 1 3 4  
c. 4 3 2 
d. 4 1 3 
e. Answer not known 
nghUj;Jf 
A. MopahW ghJfhf;fg;gl;l fhLfs;     1. tUrehL kw;Wk; Mz;bg;gl;b 
B. =tpy;ypg;Gj;J}h; kiy mzpy;  ruzhyak;   2. kNfe;jpufphp 
C. fsf;fhL – Kz;le;Jiw Gypfs; fhg;gfk; 3. nghjpif 
               4. Midkiy 

A B C  
a. 1 2 3  
b. 1 3 4  
c. 4 3 2 
d. 4 1 3 
e. tpil njhpatpy;iy 

 

96. ________ is situated in Mahendragiri hills 
a. CSIR – CECRI   
b. National Remote Sensing Station 
c. ISRO Propulsion complex 
d. ISRO Telemetry Tracking & Command Network 
e. Answer not known 
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__________ kNfe;jpufphpapy; mike;Js;sJ 
a. CSIR – CECRI   
b. Njrpa njhiy czh;T epiyak; 
c. ISRO tpd; ce;Jtpir VTjs mikg;Gfs; 
d. ISRO tpd; njhiy mstpay;> fz;fhzpg;G kw;Wk; fl;lis tiyaikg;G 
e. tpil njhpatpy;iy 

 
97. Consider the following 

Assertion (A): Thamiraparani is the only Perennial river of Tamilnadu 
Reason (R): It is fed by both southwest and Northeast monsoons 
a. Both A and R are true R is the correct explanation of A 
b. Both A and R are true R is not the correct explanation of A 
c. A is true, R is false 
d. A is false, R is true 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): jkpo;ehl;by; jhkpuguzp xNu xU tw;whj ejpahf cs;sJ 
fhuzk; (R): ,J njd;Nkw;F kw;Wk; tlfpof;F Mfpa ,U gUt kiofspYk; kio 
ngWfpwJ 
a. A kw;Wk; R ,uz;Lk; rhp NkYk; R MdJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R ,uz;Lk; rhp NkYk; R MdJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp> R jtW 
d. A jtW> R rhp 
e. tpil njhpatpy;iy 
 

98. Match the following 
A. Coorg, Karnataka  1. Thamiraparani 
B. Kolar, Karnataka   2. Cauvery 
C. Nandi Durga Hills  3. Palar 
D. Pothigai Hills   4. Thenpennaiyar 
 A B C D 
a. 1 2 3 4 
b. 2 3 4 1 
c. 3 4 1 2 
d. 4 1 2 3 
e. Answer not known 
nghUj;Jf 
A. $h;f;> fh;ehlfk;   1. jhkpuguzp 
B. Nfhyhh;> fh;ehlfk;  2. fhtphp 
C. ee;jp Jh;fh kiy   3. ghyhW 
D. nghjpif kiy   4. njd;ngz;izahW 
 A B C D 
a. 1 2 3 4 
b. 2 3 4 1 
c. 3 4 1 2 
d. 4 1 2 3 
e. tpil njhpatpy;iy 

 
99. Which is not a tributary of Thenpennaiyar? 

a. Gadilam   b. Pamban   c. Chinnar   
d. None of these  e. Answer not known 



 

25 | Page PH: 044 - 24339436, 42867555, 9840226187 

 

njd;ngz;iz Mwpd; JizahW my;yhjJ vJ? 
a. nfbyk;   b. ghk;gd; MW  c. rpd;dhW   

d. vJTkpy;iy  e. tpil njhpatpy;iy 
 
100. Match the following 

A. Stanley reservoir  1. Kollidam 
B. Sathanur Dam  2. Cauvery 
C. Ramnad Big Tank 3. Vaigai 
D. Veeranam   4. Thenpennaiyar 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 2 4 3 1 
d. 1 3 4 2 
e. Answer not known 
nghUj;Jf 
A. ];lhd;yp ePh;j;Njf;fk; 1. nfhs;splk; 
B. rhj;jD}h; miz  2. fhtphp 
C. ,uhkehjGuk; nghpa Vhp 3. itif 
D. tPuhzk;   4. njd;ngz;izahW  
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 2 4 3 1 
d. 1 3 4 2 
e. tpil njhpatpy;iy 

 
101. Match the following 

Waterfalls   District 
A. Tirumurthy  1. Theni 
B. Hogenakal   2. Nilgiri 
C. Pykara   3. Dharmapuri 
D. Suruli   4. Tiruppur 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 2 3 4 1 
d. 3 2 1 4 
e. Answer not known 
nghUj;Jf 
ePh;tPo;r;rp   khtl;lk; 
A. jpU%h;j;jp   1. Njdp 
B. xNfdf;fy;  2. ePyfphp 
C. igf;fhuh   3. jh;kGhp 
D. RUsp   4. jpUg;g+h; 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 2 3 4 1 
d. 3 2 1 4 
e. tpil njhpatpy;iy 
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102. Choose the correct statements 
1. The difference in temperature between summer and winter season is very high in most 

parts of Tamilnadu 
2. Summer season occurs due to apparent movement of sun’s ray towards northern 

hemisphere 
a. 1 only   b. 2 only   c. 1 and 2   
d. None of these  e. Answer not known 
rhpahd $w;iwj; Njh;e;njL 
1. jkpofj;jpd; ngUk;ghd;ikahd gFjpfspy; Nfhilfhyk; kw;Wk; Fsph;fhyj;jpw;F 

,ilNaahd ntg;gepiyapy; kpf mjpfsT NtWghLfs; fhzg;gLfpwJ 
2. #hpadpd; tlf;F miuNfhsk; Nehf;fpa Njhw;w efh;thy; Nfhilf;fhyk; Vw;gLfpwJ 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2  
d. vJTkpy;iy  e. tpil njhpatpy;iy 

 
103. Wettest place in Tamilnadu is at  

a. Nilgiri  b. Pichavarm   c. Chinnakkallar  
d. Yercaud  e. Answer not known 
jkpo;ehl;bd; kpf mjpf kiongWk; gFjp 
a. ePyfphp  b. gpr;rhtuk;   c. rpd;df;fy;yhh;   
d. Vw;fhL  e. tpil njhpatpy;iy 

 
104. Major soil type of Tamilnadu is 

a. Blacksoil  b. Alluvial soil   c. Red soil   
d. Laterite soil e. Answer not known 
jkpofj;jpy; mjpfkhf fhzg;gLk; kz; tif 
a. fhpry; kz;  b. tz;ly; kz;   c. nrk;kz;   
d. ruis kz; e. tpil njhpatpy;iy 

 
105. Match the following 

A. Blacksoil   1. Paddy 
B. Red Soil   2. Cotton 
C. Laterite soil  3. Ginger 
D. Alluvial soil  4. Tobacco 
 A B C D 
a. 1 2 3 4 
b. 2 4 3 1 
c. 2 4 1 3 
d. 1 3 2 4 
e. Answer not known 
nghUj;Jf 
A. fhpry; kz;  1. ney; 
B. nrk;kz;   2. gUj;jp 

C. ruis kz;  3. ,Q;rp 
D. tz;ly; kz;  4. Gifapiy 
 A B C D 
a. 1 2 3 4 
b. 2 4 3 1 
c. 2 4 1 3 
d. 1 3 2 4 
e. tpil njhpatpy;iy 
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106. The soil rich in lime, potassium, phospharic acid, magnesium but deficient in humus is 
a. Black soil   b. Red soil   c. Alluvial soil   
d. Laterite soil  e. Answer not known 
Rz;zhk;Gr;rj;J> nghl;lhrpak;> gh];ghhpf; mkpyk;> kf;dPrpak; Mfpa jhJf;fis nfhz;Lk; 
,iykf;Ffs; FiwthfTk; cs;s kz; vJ? 
a. fhpry; kz;  b. nrk;kz;   c. tz;ly; kz;   
d. ruis kz;  e. tpil njhpatpy;iy 

 
107. Choose the correct statements 

1. National Forest Policy 1988 targets a minimum of one-third of area under forest cover 
2. Tamilnadu has achieved targeted forest cover in 2017 
a. 1 only   b. 2 only   c. both 1 and 2   
d. none of these  e. Answer not known 
rhpahd $w;Wfis Njh;e;njL 
1. 1988 Njrpa tdf;nfhs;ifapd;gb Fiwe;jgl;rk; %d;wpy; xUgFjp fhLfshy; #og;gl;L 

,Uf;f Ntz;Lk; 
2. jkpo;ehL ,yf;fhf eph;zapf;fg;gl;l fhLfs; msit 2017y; vl;baJ 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2   
d. vJTkpy;iy  e. tpil njhpatpy;iy 
 

108. Lattitudinal extent of Tamilnadu is 
a. 8°4'N to 13°35'N   a. 8°5'S to 13°35'S   c. 8°0'N to 13°5'N  
d. 8°0'S to 13°5'S   e. Answer not known 
jkpo;ehl;bd; ml;rg;guty; _______ Kjy; ______ tiu cs;sJ 
a. 8°4' t Kjy; 13°35' t tiu a. 8°5' nj Kjy; 13°35' nj tiu  
c. 8°0' t Kjy; 13°5' t tiu d. 8°0' nj Kjy; 13°5' nj tiu 
e. tpil njhpatpy;iy 
 

109. Find out the correct statements 
1. Pichavaram is second largest mangrove forest in world 
2. Mangroves are formed in areas where erosion is in progress 
a. 1 only   b.  2 only   c. 1 and 2   
d. none of these  e. Answer not known 
rhpahd $w;Wfisf; fz;lwpf 
1. gpr;rhtuk; cyfpd; ,uz;lhtJ kpfg;nghpa rJg;G epyf;fhlhf cs;sJ 
2. mhpj;jy; Vw;gLk; ,lq;fspy; khq;FNuht; fhLfs; cUthfpd;wd 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2  
d. ,uz;Lky;y  e. tpil njhpatpy;iy 

 
110. District in Tamilnadu with maximum forest cover 

a. Erode  b. Nilgiri   c. Dharmapuri   
d. Coimbatore e. Answer not known 
jkpo;ehl;by; mjpf fhLfisf; (gug;gsT) nfhz;l khtl;lk; vJ? 
a. <NuhL  b. ePyfphp   c. jh;kGhp   
d. Nfhak;Gj;J}h; e. tpil njhpatpy;iy 
 

111. Match the following  
Bird Sanctuary  District 
A. Vettangudi  1. Kancheepuram 
B. Karikilli   2. Sivagangai 
C. Vellode   3. Ariyalur 
D. Karaivetti   4. Erode 
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 A B C D 
a. 1 2 3 4 
b. 2 1 4 3 
c. 4 3 2 1 
d. 3 4 1 2 
e. Answer not known 
nghUj;Jf 
gwitfs; ruzhyak; khtl;lk; 
A. Ntl;lq;Fb  1. fhQ;rpGuk; 
B. fhpf;fpsp   2. rptfq;if 
C. nts;NshL  3. mhpaY}h; 
D. fiuntl;b  4. <NuhL 
 A B C D 
a. 1 2 3 4 
b. 2 1 4 3 
c. 4 3 2 1 
d. 3 4 1 2 
e. tpil njhpatpy;iy 

 
112. According to ISRO _____ % of land in Tamil Nadu is under desertification and degradation 

a. 2  b. 12  c. 22  d. 32  e. Answer not known 
ISRO tpd; mwpf;ifapd;gb jkpo;ehl;bd; nkhj;j epyg;gug;gpy; _____ rjtPj epyk; 
ghiytdkhjy; kw;Wk; epyk; juk; FiwjYf;Fs;shfpAs;sd 
a. 2  b. 12  c. 22  d. 32  e. tpil njhpatpy;iy 

 
113. District with largest mangrove forest cover in Tamilnadu is 

a. Ramanathapuram  b. Nagapattinam  c. Cuddalore    
d. Theni    e. Answer not known 
jkpo;ehl;by; mjpf gug;gstpy; khq;FNuht; fhLfs; fhzg;gLk; khtl;lk; vJ? 
a. ,uhkehjGuk;   b. ehfg;gl;bdk;  c. flY}h;   
d. Njdp    e. tpil njhpatpy;iy 

 
114. Which of the following service send documents through SMS for citizens to download? 

a. Tiny URL  b. Know your government   c. Namadu Arasu  
d. Makkal Number e. Answer not known 
Fbkf;fs; jutpwf;fk; nra;a SMS %yk; Mtzq;fis mDg;Gk; gpd;tUk; Nrit vJ? 
a. bdp URL  b. cq;fs; murhq;fj;ij mwptPh;  c. ekJ muR   
d. kf;fs; vz; e. tpil njhpatpy;iy 
 

115. Amma call centre has a toll free number of ________ for public to submit grievance 
a. 1200  b. 121  c. 1100  d. 1248 e. Answer not known 
nghJ kf;fs; Fiwfis njhptpf;f> mk;kh miog;G ikak; toq;fpAs;s fl;lzkpy;yh vz; 
vJ? 
a. 1200  b. 121  c. 1100  d. 1248 e. tpil njhpatpy;iy 
 

116. A can do a work in 15 days and B in 20 days. If they work on it together for 4 days, then the 
fraction of the work that is left is: 

a. 
1

4
  b. 

1

10
  c. 

7

15
  d. 

8

15
  e. Answer not known 
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A xU Ntiyia 15 ehl;fspy; nra;thh;. B mNj Ntiyia 20 ehl;fspy; nra;thh;. 
mt;Ntiyia A, B ,UtUk; Nrh;e;J 4 ehl;fs; Kbj;jgpd; kPjKs;s Ntiyapd; gpd;dk;  

a. 
1

4
  b. 

1

10
  c. 

7

15
  d. 

8

15
  e. tpil njhpatpy;iy 

 

117. A passenger train takes 1 hr more than an express train to travel a distance of 240 km from 

Chennai to Virudhachalam. The speed of passenger train is less than that of an express 

train by 20 km per hour. Find the average speed of both the trains.  

a. 40 km/hr, 60 km / hr   b. 50 km/hr, 70 km/hr  
c. 60 km/hr, 80 km/hr   d. 70 km/hr, 90 km/hr 
e. Answer not known 
nrd;idapypUe;J tpUjhr;ryj;jpw;F 240 fp.kP J}uj;ijf; flf;f xU gazpfs; 
njhlu;tz;bf;F xU tpiuT njhlu;tz;biatpl 1 kzp Neuk; $Ljyhfj; Njitg;gLfpwJ. 
gazpfs; njhlu;tz;bapd; Ntfk;> tpiuT njhlu; tz;bapd; Ntfj;ijtpl 20 fp.kP/kzp 
FiwT vdpy;> ,U njhlu;tz;bfspd; ruhrup Ntfq;fisf; fzf;fpLf.  
a. 40 km/hr, 60 km / hr   b. 50 km/hr, 70 km/hr  
c. 60 km/hr, 80 km/hr   d. 70 km/hr, 90 km/hr  
e. tpil njhpatpy;iy 

 
118. A and B together can do a piece of work in 16 days and A alone can do it in 48 days. How 

long will B take to complete the work? 
a. 3 days   b. 12 days   c. 24 days 
d. 32 days   e. Answer not known 
A kw;Wk; B Mfpa ,UtUk; ,ize;J xU Ntiyia 16 ehl;fspy; Kbg;gh;. A jdpNa 
me;j Ntiyia 48 ehl;fspy; Kbg;ghh; vdpy;> B jdpNa me;j Ntiyia vj;jid 
ehl;fspy; Kbg;ghh;? 
a. 3 ehl;fs;   b. 12 ehl;fs;   c. 24 ehl;fs; 
d. 32 ehl;fs;       e. tpil njhpatpy;iy 

 
119. 12 cows can graze a field for 10 days. 20 cows can graze the same field for    ________ days. 

a. 18  b. 15   c. 8  d. 6  e. Answer not known 
12 gRf;fs; xU Gy; jiuia 10 ehl;fs; Nka;fpd;wd. 20 gRf;fs;  mNj Gy;jiuia Nka 
___________ ehl;fs; vLj;Jf; nfhs;fpd;wd.  
a. 18  b. 15   c. 8  d. 6   e. tpil njhpatpy;iy 

 
120. Pipe A can fill an empty tank in 6 hours and pipe B in 8 hours. If both the pipes are opened 

and after 2 hours pipe A is closed, how much time B will take to fill the remaining tank? 

a. 7hrs    b. 5hrs    c. 
5

96
hrs   

d. 
1

3
3

hrs   e. Answer not known 

xU ntw;Wj; njhl;bia Foha; A 6 kzp Neuj;jpYk; Foha; B. 8 kzp Neuj;jpYk; epug;g 
KbAk;. ,U Foha;fSk; jpwf;fg;gl;L> 2 kzp Neuj;jpw;Fg; gpd;Foha; A %lg;gl;lhy;> 
kPjKs;s njhl;bia epug;g Foha; B vt;tsT kzp Neuk; vLj;Jf; nfhs;Sk;? 

a. 7 kzp Neuk;   b. 5 kzp Neuk;  c. 
5

96
 kzp Neuk; 

d. 
1

3
3

 kzp Neuk;  e. tpil njhpatpy;iy 
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121. Namadhu arasu is platform to _______ 
a. Provide unique number to each resident  
b. Single window for business clearance 
c. Online dissemination of information regarding governance 
d. Wifi, internet facility provision in rural areas 
e. Answer not known 
ekJ muR vd;gJ 
a. xt;nthU FbkfDf;Fk; jdpg;gl;l vz;iz toq;Fjy;  
b. tzpf mDkjpf;fhd xw;iw top 
c. MSif njhlh;ghd jfty;fis ,izaj;jpy; ntspapLjy; 
d. fpuhkg;Gw gFjpfspy; it – ig> ,iza trjpfis Vw;gLj;Jjy; 
e. tpil njhpatpy;iy 

 
122. Integerated Livestock Research Park have been established at ________ on an area of 1102 

acres 
a. Dharmapuri  b. Krishnagiri  c. Ariyalur   
d. Salem   e. Answer not known 
1102 Vf;fh; gug;gstpy; xUq;fpize;j fhy;eil Muha;r;rp g+q;fh ________ ,y; 
epWtg;gl;Ls;sJ 
a. jh;kGhp   b. fpU~;zfphp  c. mhpaY}h;  
d. Nryk;   e. tpil njhpatpy;iy 
 

123. International year of millets according to FAO is 
a. 2018  b. 2021 c. 2023  d. 2025 e. Answer not known 
czT kw;Wk; Ntshz; epWtd mwpf;ifapd;gb rh;tNjr jpid Mz;L ______ 
a. 2018  b. 2021 c. 2023  d. 2025 e. tpil njhpatpy;iy 

 
124. District that leads in inland fish production in tamilnadu is 

a. Cuddalore  b. Villupuram  c. Vellore   
d. Sivagangai  e. Answer not known 
jkpo;ehl;by; cs;ehl;L kPd; cw;gj;jpapy; Kjyplk; tfpf;Fk; khtl;lk; ___________ 
a. flY}h;  b. tpOg;Guk;   c. NtY}h;   
d. rptfq;if  e. tpil njhpatpy;iy 
 

125. Match the following  
A. Kaka kalelkar commission    1. 1951 
B. First amendment      2. 1979 
C. Second backward class commission   3. 1953 
D. Indra sawhney vs Union of India case  4. 1992  
 A B C D  
a. 3 2 1 4  
b. 3 2 4 1  
c. 1 3 2 4 
d. 3 1 2 4 
e. Answer not known 
nghUj;Jf:   
A. fhfh fNyy;fh; Mizak;     1. 1951 
B. Kjy; rl;lj;jpUj;jk;     2. 1979 
C. ,uz;lhtJ gpw;gLj;jg;gl;Nlhh; Mizak;   3. 1953 
D. ,e;jpuh r`hdp Vs ,e;jpa xd;wpak; tof;F  4. 1992 
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 A B C D  
a. 3 2 1 4  
b. 3 2 4 1  
c. 1 3 2 4 
d. 3 1 2 4 
e. tpil njhpatpy;iy 
 

126. Match the following 
A. Bhavanisagar dam   1. Tiruppur 
B. Amaravati dam    2. Erode 
C. Sathanur dam    3. Tirunelveli 
D. Manimuthar dam   4. Tiruvannamalai 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 2 1 4 3 
d. 3 4 1 2 
e. Answer not known 
nghUj;Jf 
A. gthdprhfh; miz   1. jpUg;g+h; 
B. mkuhtjp miz    2. <NuhL 
C. rhj;jD}h; miz    3. jpUney;Ntyp 
D. kzpKj;J}h; miz   4. jpUtz;zhkiy 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 2 1 4 3 
d. 3 4 1 2 
e. tpil njhpatpy;iy 
 

127. Disaster emergency contact number is 
a. 1807  b. 1770 c. 1077  d. 1707  e. Answer not known 
Nghplh;fhy mtru cjtp vz; __________ 
a. 1807  b. 1770 c. 1077  d. 1707  e. tpil njhpatpy;iy 

 
128. Decadal growth rate of population of Tamilnadu is 

a. 11.19%  b. 15.61%   c. 5.96%   
d. 6.07%  e. Answer not known 
jkpo;ehl;bd; kf;fs;njhifapd; gj;jhz;L tsh;r;rp tpfpjk; ______ 
a. 11.19%  b. 15.61%   c. 5.96%   
d. 6.07%  e. tpil njhpatpy;iy 

 
129. District with least population density is 

a. Kanyakumari  b. Vellore   c. Nilgiri   
d. Nagapattinam  e. Answer not known 
Fiwe;j kf;fslh;j;jp nfhz;l khtl;lk; _________ 
a. fd;dpahFkhp  b. NtY}h;   c. ePyfphp   
d. ehfg;gl;bdk;  e. tpil njhpatpy;iy 
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130. Arrange the following districts based on literacy rate in descending order 
1. Chennai  2. Dharmapuri  3. Kanyakumari 
4. Nilgiris  5. Kancheepuram 
a. 1-2-3-4-5  b. 5-4-3-2-1   c. 3-1-4-5-2   
d. 3-1-5-4-2  e. Answer not known 
vOj;jwpT tpfpjj;jpd;gb khtl;lq;fis ,wq;F thpirg;gLj;Jf 
1. nrd;id  2. jh;kGhp   3. fd;dpahFkhp 
4. ePyfphp  5. fhQ;rpGuk; 
a. 1-2-3-4-5  b. 5-4-3-2-1   c. 3-1-4-5-2   
d. 3-1-5-4-2  e. tpil njhpatpy;iy 
 

131. NH-785 is shortest national highway in Tamilnadu from ______ to ______ 
a. Dharmapuri, Salem   b. Madurai, Natham 
c. Ramanathapuram, Danushkodi  d. Madurai, Tirunelveli 
e. Answer not known 
jkpo;ehl;bd; kpff;Fiwe;j ePsk; nfhz;l Njrpa neLQ;rhiyahd NH785 ________ Kjy; 

___________ tiu mike;Js;sJ  
a. jh;kGhp> Nryk;    b. kJiu> ej;jk; 
c. ,uhkehjGuk;> jD~;Nfhb  d. kJiu> jpUney;Ntyp 
e. tpil njhpatpy;iy 

 
132. Hills which separate river basins of cauvery and palar? 

a. Andipatti hills  b. Palani hills   c. Kalvarayan hills   
d. Pachamalai hills  e. Answer not known 
fhtphp kw;Wk; ghyhW Mw;Wg;gLiffis gphpf;Fk; kiyfs; ___________ 
a. Md;bg;gl;b kiyfs; b. godp kiyfs;  c. fy;tuhad; kiyfs;  
d. gr;irkiy kiyfs; e. tpil njhpatpy;iy 
 

133. Choose correct statement 
1. RIDF – Rural Infrastructure Development Fund was created in 1995-96 
2. NABARD set up RIDF for rural development 
a. 1 alone   b. 2 alone   c. Both 1 & 2  
d. Neither 1 nor 2  e. Answer not known 
rhpahd thf;fpaj;ij fz;lwpaTk; 
1. Cuf cl;fl;likg;G tsh;r;rp epjp RIDF 1995-96y; cUthf;fg;gl;lJ.  
2. eghh;L mikg;G %yk; Cuf Nkk;ghl;bw;F RIDF cUthf;fg;gl;lJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;     c. 1 kw;Wk; 2 ,uz;Lk;  
d. 1 kw;Wk; 2 ,uz;Lky;y e. tpil njhpatpy;iy 
 

134. Consider the following statements regarding Pudhu Vazhvu project  
1. It was launched in November 2005 
2. It is funded by world bank 
3. It is a Anti-poverty scheme 
4. The scheme is implemented in all districts of Tamil Nadu 
a. 1, 2 are correct   b. 1, 2, 3 are correct  c. 2, 3 4 are correct  
d. all are correct  e. Answer not known 
GJ tho;T jpl;lj;ijf; Fwpj;j gpd;tUk; $w;Wfis Ma;f. 
1. ,J etk;gh; 2005y; njhlq;fg;gl;lJ. 
2. cyf tq;fpapd; epjpahy; nray;gLj;jg;gLfpwJ. 
3. ,J xU tWik xopg;G jpl;lkhFk;. 
4. ,e;j jpl;lk;> jkpo;ehl;bd; midj;J khtl;lq;fspYk;  
  nray;gLj;jg;gLfpwJ. 
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a. 1, 2 rhp   b. 1, 2, 3 rhp   c. 2, 3 4 rhp   
d. midj;Jk; rhp  e. tpil njhpatpy;iy 

 
135. Tsunami Emergency Assistance Project (TEAP) is 100% funded by ____ 

a. World Bank b. ADB    c. AIIB   
d. JICA  e. Answer not known 
Rdhkp mtru cjtp jpl;lj;jpw;F (TEAP) 100% epjpAjtp toq;FtJ 
a. cyf tq;fp b. Mrpa tsh;r;rp tq;fp  c. AIIB   
d. JICA  e. tpil njhpatpy;iy 
 

136. Consider the following statements regarding MGNREGS. 
1. It was launched on 02.02.2006 
2. In Tamil Nadu initially scheme was launched in 6 districts only 
3. MGNREGS is currently implemented in all districts of Tamil Nadu 
a. 1, 2 are correct  b. 1 alone is correct  c. 3 alone is correct  
d. all are correct  e. Answer not known 
kfhj;kh fhe;jp Njrpa Cuf Ntiy cWjpj; jpl;lk; (MGNREGS) Fwpj;j gpd;tUk; 
$w;Wfis Ma;f. 
1. ,j;jpl;lk; 02.02.2006 md;W njhlq;fg;gl;lJ. 
2. jkpo;ehl;by; njhlf;fj;jpy; 6 khtl;lq;fspy; kl;LNk ,j;jpl;lk;  
  mwpKfg;gLj;jg;gl;lJ. 
3. jw;NghJ MGNREGS jpl;lk;> jkpo;ehl;bd; midj;J khtl;lq;fspYk;  
  nray;gLj;jg;gLfpwJ. 
a. 1, 2 rhp   b. 1 kl;Lk; rhp   c. 3 kl;Lk; rhp   
d. midj;Jk; rhp  e. tpil njhpatpy;iy 
 

137. The main objective of CEmONC centres is _____ 
a. Reducing Infant and Maternal Mortality b. Old age Care 
c. Transgender Health Care   d. Tribal Health Care 
e. Answer not known 
CEmONC ikaq;fspd; Kf;fpa Nehf;fk;> 
a. Foe;ij kw;Wk; kfg;NgW ,wg;Gfisf; Fiwj;jy; 
b. KjpNahh; eyk; 
c. jpUeq;ifah; eyk; 
d. goq;Fbapdh; eyk; 
e. tpil njhpatpy;iy 

 
138. 108, Emergency Ambulance Service was launched on _____ 

a. September 15, 2007 b. September 15, 2008 c. September 17, 2007 
d. September 17, 2008 e. Answer not known 
‘108’ mtrufhy Ch;jp Nrit njhlq;fg;gl;l ehs;> 
a. 15 nrg;lk;gh;> 2007 b. 15 nrg;lk;gh;> 2008 c. 17 nrg;lk;gh;> 2007 
d. 17 nrg;lk;gh;> 2008 e. tpil njhpatpy;iy 
 

139. Consider the following statements regarding Tamilnadu Corporation for Development of 
Women (TNCDW) 
1. TNCDW was established in 1983 under social welfare department. 
2. Now, TNCDW is under control of Rural development and panchayat raj department 
3. Objective of TNCDW is social and economic empowerment of women  
a. 1, 2 are correct  b. 3 only is correct      c. 1, 3 are correct  
d. All are correct  e. Answer not known 
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jkpo;ehL kfsph; Nkk;ghl;L epWtdk; (TNCDW) Fwpj;j gpd;tUk; thf;fpaq;fSy; 
rhpahdtw;wijj; Njh;e;njLf;f 
1. TNCDW MdJ 1983 Mk; Mz;L r%f eyj;Jiwapd; fPo; epWtg;gl;lJ. 
2. jw;NghJ TNCDW MdJ Cuf tsh;r;rp kw;Wk; Cuhl;rpj; Jiwapd; fPo; cs;sJ. 
3. TNCDW apd; Nehf;fk; ngz;fSf;F r%f kw;Wk; nghUshjhu mjpfhuk; toq;Fjy; 

MFk;. 
a. 1>2 rhp   b. 3 kl;Lk; rhp  c. 1>3 rhp   
d. midj;Jk; rhp  e. tpil njhpatpy;iy 
 

140. Ajeevika scheme was launched in ____ 
a. 1991 b. 2009 c. 2011  d. 2013 e. Answer not known 
M[Ptpfh jpl;lk; vg;NghJ njhlq;fg;gl;lJ? 
a. 1991 b. 2009 c. 2011  d. 2013 e. tpil njhpatpy;iy 

 
141. Which of the following schemes is/are implemented through Nirbhaya Fund? 

1. One stop centre – SAKHI 
2. Women Helpline – 181 
3. Mahila Police Volunteer 
4. Women Patrol Vehicle 
a. 2, 3, 4 b. 1, 2, 4 c. 2, 4  d. 1, 2, 3, 4 e. Answer not known 
gpd;tUtdtw;Ws; ve;j jpl;lq;fs; eph;gah epjpahy; nray;gLj;jg;gLfpd;wd? 
1. xw;iw epWj;j ikak; - rfp 
2. kfsph; cjtp vz; - 181 
3. kfsph; fhty; jd;dhh;tyh;fs; 
4. kfsph; Nuhe;J Ch;jp 
a. 2, 3, 4 b. 1, 2, 4 c. 2, 4  d. 1, 2, 3, 4 e. tpil njhpatpy;iy 

 
142. The Madras Institute of Development studies was established in Chennai in 1971 with the 

effort of  
a. Subramanian   b. Narayanan  c. Arvind Subramanian 
d. Malcom Adhiseshiah e. Answer not known 
____ Kaw;rpahy; nrd;id tsu;r;rp Muha;r;rp epWtdk; 1971 ,y; nrd;idapy; epWtg;gl;lJ. 
a. Rg;ukzpad;  b. ehuhazd;   c. mutpe;j; Rg;ukzpad; 
d. khy;fhk; MjpNr~pah e. tpil njhpatpy;iy 
 

143. Arrange the following in chronological order: 
I. Non-Brahmin manifesto. 
II. Madras Non-Brahmin Association. 
III. South Indian Liberation Federation. 
IV. Dravidian Home at Triplicane. 
a. II, I, III, IV  b. II, IV, III, I   c. IV, III, II, I   
d. IV, II, III, I  e. Answer not known 
gpd;tUtdtw;iw fhytupirg;gb tupirg;gLj;jTk;: 
I. gpuhkzuy;yhj mwpf;if 
II. nrd;id gpuhkzu; my;yhNjhu; rq;fk; 
III. njd;dpe;jpa tpLjiy $l;likg;G 
IV. jpUty;ypf;Nfzpapy; cs;s jpuhtpl ,y;yk;. 
a. II, I, III, IV  b. II, IV, III, I    c. IV, III, II, I   
d. IV, II, III, I  e. tpil njhpatpy;iy 
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144. Which of the following facts are false: 
a. Transgender Welfare Board was constituted in 2008. 
b. A state level Award for the Third gender has been instituted from the year 2021. 
c. The award will be felicitated on “Thirunangaiyar Day” which falls on 15th April of 

every year. 
d. A mobile app named “Moondram Paal” has been created & worked functioning from 

2021. 
e. Answer not known 
gpd;tUtdtw;wpy; vit jtwhdJ: 
a. jpUeq;iffs; eythhpak; 2008 ,y; cUthf;fg;gl;lJ. 
b. %d;whk; ghypdj;NjhUf;fhd khepy mstpyhd tpUJ 2021 Mk; Mz;L Kjy; 

njhlq;fg;gl;Ls;sJ. 
c. xt;nthU Mz;Lk; Vg;uy; 15Mk; Njjp tUk; jpUeq;iffs; jpdj;jpy; ,e;j tpUJ 

toq;fg;gLk;. 
d. “%d;whk; ghy;” (Moondram Paal) vd;w nkhigy; nrayp cUthf;fg;gl;L> 2021 Kjy; 

nray;glj; njhlq;fpaJ. 
e. tpil njhpatpy;iy 
 

145. Chief Minister of Tamilnadu launched “Makkalai Thedi Maruthuvam” scheme to deliver 
essential healthcare at the doorstep of the people in which district? 
a. Dharmapuri  b. Krishnagiri   c. Salem 
d. Perambalur  e. Answer not known 
ve;j khtl;lj;jpy; kf;fspd; tPl;L thrypy; mj;jpahtrpa Rfhjhu Nritfis toq;Ftjw;fhf 
“kf;fisj; Njb kUj;Jtk;” jpl;lj;ij jkpof Kjy;th; njhlq;fp itj;jhh;? 
a. jh;kGup   b. fpU~;zfpup    c. Nryk; 
c. nguk;gY}h;   e. tpil njhpatpy;iy 
 

146. A camp had provisions for 490 soldiers for 65 days. After 15 days, more soldiers arrived 
and the remaining provisions lasted for 35 days. How many soldiers joined the camp? 
a.   120 b.  490  c.   700     d.210  e. Answer not known 
xU Kfhkpy; 65 ehl;fSf;F 490 tPuh;fSf;Fg; NghJkhd kspifg; nghUl;fs; ,Ue;jd. 15 
ehl;fSf;Fg; gpwF> NkYk; gy tPuh;fs; Kfhkpw;F te;jjhy;> kPjkpUe;j kspifg; 
nghUl;fshdJ 35 ehl;fSf;F kl;LNk NghJkhdjhf ,Ue;jJ vdpy;> vj;jid tPuh;fs; 
Kfhkpy; Nrh;e;jdh;? 
a. 120  b. 490   c. 700  d. 210   e. tpil njhpatpy;iy 

 
147. If 5 persons can do 5 jobs in 5 days then how many days will it take for 50 persons to finish 

50 jobs? 
a. 5 days b. 7 days c. 9 days d. 11 days e. Answer not known 
5 egh;fs; 5 Ntiyfis 5 ehl;fspy; nra;J Kbg;gh; vdpy; 50 egh;fs; 50 Ntiyfis> 
vj;jid ehl;fspy; nra;J Kbg;gh;? 
a. 5 ehl;fs; b. 7 ehl;fs; c. 9 ehl;fs; d. 11 ehl;fs; e. tpil njhpatpy;iy 

 
148. A is thrice a good workman as B and take 10 days less to do a piece of work than B. How 

many days B takes alone can do the whole work? 
a. 12 days  b. 15 days   c. 20 days   
d. 30 days  e. Answer not known 
xU Ntiyf;fhuuhf A vd;gth; B vd;gtiutpl Kk;klq;F nfl;bfhuh; kw;Wk; A vd;gth; 
xU Ntiyia Kbf;f B-I tpl 10 ehl;fs; Fiwthf vLj;Jf;nfhs;fpwhh; vdpy; B kl;Lk; 
me;j Ntiyia vj;jid ehl;fspy; Kbg;ghh;?  
a. 12 ehl;fs;  b. 15 ehl;fs;   c. 20 ehl;fs;  
d. 30 ehl;fs;  e. tpil njhpatpy;iy 
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149. If a train runs at 60 km/hr it reaches its destination late by 15 minutes. But, if it runs at 85 
kmph it is late by only 4 minutes . Find the distance to be covered by the train. 
a. 37.4 km  b. 34.7 km   c. 47.3 km   
d. 43.7km  e. Answer not known 
xU njhlu;tz;b kzpf;F 60 fp.kP Ntfj;jpy; nrd;why; Nru Ntz;ba ,lj;jpw;F 15 
epkplq;fs; jhkjkhf nrd;W NrUk;. Mdhy; mt;tz;b kzpf;F 85 fp.kP Ntfj;jpy; nrd;why; 
Nru Ntz;ba ,lj;jpw;F 4 epkplq;fs; kl;LNk jhkjkhf nrd;W NrUk; vdpy;> 
mj;njhlu;tz;b flf;f Ntz;ba gazj; J}uj;ijf; fhz;f. 
a. 37.4fp.kP  b. 34.7fp.kP   c. 47.3fp.kP   
d. 43.7fp.kP  e. tpil njhpatpy;iy; 

 
150. A can do a piece of work in 12 hours. B and C can do it 3 hours whereas A and C can do it 

in 6 hours. How long will B alone take to do the same work? 
a. 2 hours  b. 5 hours   c. 7 hours   
d. 4 hours  e. Answer not known 
A vd;gth; xU Ntiyia 12 kzp Neuj;jpy; Kbg;ghh;. B kw;Wk; C me;j Ntiyia 3 kzp 
Neuj;jpYk; A kw;Wk; C me;j Ntiyia 6 kzp Neuj;jpYk; nra;J Kbg;gh;. mNj 
Ntiyia B jdpNa vt;tsT kzp Neuj;jpy; Kbg;ghh;? 
a. 2 kzpfs;  b. 5 kzpfs;   c. 7 kzpfs; 
d. 4 kzpfs;  e. tpil njhpatpy;iy 

 


